= one foot

three inches

one foot

one and one half inches

one foot

one inch

one foot

three quarters inch

one foot

one half inch

one foot

three eighths inch

one foot

one quarter inch

one foot

one eighth inch

1 2 3 4 5 6 7 8 9
GENERAL CONSTRUCTION NOTES: FOUNDATION NOTES: YISTG
1. ALL WORK SHALL COMPLY WITH THE 2012 INTERNATIONAL BUILDING CODE, 1. FOOTING ELEVATIONS ARE TO TOP OF FOOTING (T.0. FTG.), UNLESS OTHERWISE NOTED. TUNNEL
AS APPROVED BY THE VETERANS ADMINISTRATION GUIDELINES.
2. FOOTINGS ARE DESIGNED FOR A MINIMUM NET ALLOWABLE SOIL BEARING PRESSURE
2. REFERENCE STANDARDS: UNLESS OTHERWISE NOTED (U.O.N.), ALL STANDARDS OF 3500 psf FOUNDATION DESIGN COMPLIES W/ GEOTECHNICAL REPORT DATED
SHALL BE CURRENT EDITION, WITH LATEST ADDENDA, IF APPLICABLE. AUGUST 15, 2014 BY INDEPENDENT TESTING TECHNOLOGIES, INC.
3. THE CONTRACTOR SHALL VERIFY ALL CONTRACT DOCUMENTS, SITE ELEVATIONS, 3. FOOTINGS SHALL BEAR ON NATURAL UNDISTURBED SOIL OR ENGINEERED FILL.
DIMENSIONS AND CONDITIONS PRIOR TO STARTING WORK AND SHALL NOTIFY THE SOILS SHALL BE OBSERVED AND APPROVED BY A GEOTECHNICAL ENGINEER PRIOR
ARCHITECT/ ENGINEER OF ANY DISCREPANCIES OR INCONSISTENCIES. TO PLACEMENT OF FOOTING CONCRETE. IF NATURAL UNDISTURBED SOILS ARE NOT o o o o , §
ENCOUNTERED AND/OR INADEQUATE SOILS ARE NOTED AT FOOTING BEARING LEVEL, | | 23 =7 | 19'-5 20 =5 ) 17 =3 ] 200-3 1/2
4. SPECIFIC NOTES AND DETAILS SHALL TAKE PRECEDENCE OVER GENERAL NOTES. ARCHITECT/ENGINEER SHALL BE NOTIFIED PRIOR TO PROCEEDING WITH FURTHER WORK | EXIST'G | W »_8 1/2" "
AT THOSE FOOTING LOCATIONS. 3 -8 1/ ,
5. THE CONTRACT STRUCTURAL DRAWINGS AND SPECIFICATIONS REPRESENT THE ‘ BUILDING ‘ ‘ ! » T
FINISHED STRUCTURE. UNLESS OTHERWISE INDICATED, THEY DO NOT INDICATE THE 4. PROTECT FOOTINGS FROM THE ACTION OF WATER OR FREEZING. ‘ ‘ ‘ 5 1/2" o DRA|NT||_E\L\r
MEANS OR METHOD OF CONSTRUCTION. TEMPORARY BRACING AND SHORING R o 24— / ‘ ™ Hé]
AGAINST WIND AND ERECTION CONDITIONS DURING CONSTRUCTION OF THE BUILDING, 5. FOOTINGS ARE CENTERED UNDER WALLS ABOVE — UNLESS OTHERWISE NOTED. ‘ ! ! ! ! : @4” S.0. GRADFE |
SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR. THE CONTRACTOR IS SOLELY i T ] A |
RESPONSIBLE FOR THE PROTECTION OF THE STRUCTURE DURING ALL PHASES OF 6. PRIOR TO PLACEMENT OF FOOTING CONCRETE, CLEAN FOOTING EXCAVATIONS OF ‘ I ol ‘ | EL. = 940 @ I | i
DEMOLITION, CONSTRUCTION, AND INSTALLATION. SNOW, WATER, MUD, DIRT AND DEBRIS. \ o 1 \ S0 \ | 6 1o ; )
| I I I I | I - . S
6. TEMPORARY BRACING AND SHORING AGAINST WIND AND ERECTION CONDITIONS 7.  FOOTINGS MAY NOT BE EARTH FORMED. ‘ i i i i | y ‘ = (TYP)‘ " |
TO BE THE RESPONSIBILITY OF THE CONTRACTOR. ] N TS —2 -6 FIG. || " | —~& 4 S.0. GRADE w0
EXCAVATION AND BACKFILL NOTES: ®10. () FTC, ™~ O g (TYP.) R e EL. = 100-0"Q ™
7. NO AREA OF THE STRUCTURE SHALL BE LOADED WITH CONSTRUCTION MATERIALS EXCAVATION AND BACKFILL NOTES: FL. = 95'-0 \ Ll NG | |
OR EQUIPMENT THAT EXCEEDS FINAL DESIGN CRITERIA. v Co N e —— 22 — .
1. EXCAVATION AND BACKFILL SHALL BE EXECUTED IN ACCORDANCE WITH THE (vV.) ‘ o N T = % /G} N
8.  SEE MECHANICAL, ELECTRICAL AND ARCHITECTURAL DRAWINGS FOR ALL OPENINGS PROJECT SPECIFICATIONS. I o/ 1] 1@ 4” S.0. GRADE N ‘ ) - T A {1 N
AND INSERTS NOT SHOWN ON THE STRUCTURAL DRAWINGS. e e T T STAIR 1 g fL = 100'-0" ~ | | T )
2. BACKFILL, & COMPACTION SHALL BE INSPECTED AND CERTIFIED BY A LICENSED In e \ . = -0"® | rfﬁf A
9. VERIFY LOCATION OF BOX OUTS AND OPENINGS WITH MECHANICAL CONTRACTORS. GEOTECHNICAL ENGINEER. REPORTS ARE TO BE SUBMITTED TO THE ARCHITECT/ I I | | | 7
OPENING SIZES AND LOCATIONS SHOWN FOR PIPES, DUCTS ETC. ARE FOR GENERAL ENGINEER. i \ @T1.0. (E) FTIG.— | | e e |
INFORMATION ONLY AND SHALL BE VERIFIED WITH THE MECHANICAL CONTRACTOR ~ _ mall| | — 93-0" ‘ |
BEFORE COMMENCING THE WORK. 3. FOOTING EXCAVATIONS SHALL BE EXCAVATED TO PROPER LINE AND LEVEL TO - -
ENSURE MINIMUM CONCRETE COVER OF FOOTING REINFORCEMENT FOR FOOTING \ | \ o _ | (B) \ | | o,
10.  IF MECHANICAL AND ELECTRICAL EQUIPMENT SIZES, WEIGHTS, OR LOCATIONS DEPTH. | o0 ! R T 2-6 | \
DO NOT COINCIDE WITH EQUIPMENT SHOWN ON PLANS, COORDINATE ADJUSTMENTS \ - \ N T.0. (E) FTG. —| FTG. | | "
WITH THE STRUCTURAL ENGINEER. 4,  BACKFILL SHALL BE COMPACTED BY MECHANICAL MEANS. FLOODING OR WATER ‘ = 93 -0" > | | —
INUNDATION SHALL NOT BE PERMITTED. | o |
11, HOLES, PIPES, SLEEVES, ETC. NOT SHOWN ON THE DRAWINGS MUST BE APPROVED BY T ‘ . ‘ o) 3 (F) DRAIN TILE ] \ ‘ | i
THE STRUCTURAL ENGINEER BEFORE PLACEMENT THROUGH STRUCTURAL MEMBERS. BACKFILL SHALL BE PLACED IN ALTERNATING LIFTS ON EACH SIDE OF THE | N | (E) 3'-6% N | | <
FOUNDATION WALLS TO MAINTAIN STABILITY OF THE FOUNDATION WALLS. ‘ N FTG. N | | —
12. CONTRACTOR SHALL PROVIDE A CAST-IN SLEEVE FOR ALL HORIZONTAL ELEMENTS ‘ R ) A S S L KJJ = 0 7
THAT EXTEND THROUGH FOOTING. IE: DRAIN TILE, ELECTRICAL CONDUIT, MECHANICAL 6. BACKFILL SHALL NOT BE PLACED AGAINST BASEMENT FOUNDATION WALLS UNLESS | \ T | L S N S e )
PIPING, ETC. ALL SLEEVES SHALL BE COORDINATED WITH ARCHITECT/ENGINEER. WALLS ARE ADEQUATELY BRACED TOP AND BOTTOM. FINAL WALL BRACING IS | T - —H—-— - @
BASEMENT SLAB AND 1ST FLOOR STRUCTURE. IF THESE ELEMENTS ARE NOT IN | S ,,:,::,::,:,::,:,::,‘% I
13.  SHOP DRAWINGS PREPARED BY SUPPLIERS, SUBCONTRACTORS, ETC., SHALL BE PLACE AT TIME OF BACKFILL, CONTRACTOR SHALL PROVIDE AN ENGINEERED, \ T ( ‘ == |
DIMENSIONED, REVIEWED, COORDINATED, AND SIGNED/ STAMPED BY THE GENERAL TEMPORARY BRACING SYSTEM. THE TEMPORARY BRACING SYSTEM PROPOSED | | | ‘ g
CONTRACTOR PRIOR TO SUBMITTING TO THE STRUCTURAL ENGINEER. MANUFACTURED SHALL BE SUBMITTED TO THE ARCHITECT/ ENGINEER FOR REVIEW PRIOR TO | | 35106/ | | | | |
COMPONENTS SUCH AS TRUSSES OR PRECAST CONCRETE SHALL BE ENGINEERED BACKFILLING. h ~
AND STAMPED PRIOR TO SUBMISSION.
MASONRY NOTES:
14, FABRICATOR SHALL CLEARLY NOTE CHANGES MADE IN THE SHOP DRAWINGS WHICH
DO NOT COMPLY WITH THE CONTRACT DOCUMENTS. REVIEWED APPROVAL SHOP 1. CONCRETE BLOCK MASONRY UNITS SHALL CONFORM TO GRADE 'N’, MOISTURE
DRAWINGS SHOWING ENGINEERS COMMENTS ACCOMPANIED WITH RECORD SET SHOP CONTROLLED TYPE | REQUIREMENTS OF ASTM C90, WITH AN ASSUMED COMPRESSIVE FOOT' NG & FOU N DAT'ON GROU N D FLOOR PLAN
SHOP DRAWINGS, SHALL BE AVAILABLE FOR REFERENCE AT THE CONSTRUCTION SITE. STRENGTH F'm — 1500 psi. MORTAR SHALL CONFORM TO ASTM C270 AND SHALL BE NORTH
TYPE 'M' OR TYPE 'S’, WITH TYPE "M’ BELOW GRADE. "~ 1'-0" = 93-0"
15.  EXPANSION ANCHORS (EXP. ANC.) SHALL BE HILTI "KWIK BOLT TZ" OR EQUIVALENT 1/8 -0 @ T.O.FOOTING EL. = 93'-0" (UON)
(U.O.N.). INSTALL ANCHORS IN STRUCTURAL CONFORMANCE WITH THE MANUFACTURER’S 2. BOND BEAMS SHALL HAVE 2 — #5 REINFORCING BARS CONTINUOUS. PROVIDE AT
RECOMMENDATIONS. TOP OF WALLS AND WHERE SHOWN ON PLAN OR DETAILS. SEE STANDARD DETAILS
i o i FOR TYPICAL CORNER BARS.
16.  ADHESIVE ANCHORS (A.A.) SHALL BE HILTI "HIT HY-200 USING 'HAS' STANDARD RODS KEYNOTES:
OR EQUIVALENT (U.O.N.).  USE HILTI HIT HY-150 ICE FOR COLD WEATHER APPLICATIONS, 3. CONCRETE GROUT FOR UNIT MASONRY CORES AND BOND BEAMS SHALL HAVE A 28
SEE SPECIFICATIONS FOR USAGE. INSTALL ANCHORS IN STRUCTURAL CONFORMANCE DAY COMPRESSIVE STRENGTH OF 3000 psi. Vo ;
WITH THE MANUFACTURER’S RECOMMENDATIONS. (1) 2- #6 x 1'-8" DWL DRILL 8" INTO
4, MASONRY WALLS ARE TO BE SUPPORTED LATERALLY UNTIL THE ENTIRE ROOF EXISTING FTG. & GROUT SOLID
17. DESIGN LOADS: (2012 IBC CRITERIA) AND/ OR FLOOR IS IN PLACE AS DETAILED.
S 0 o T o R TESETAT %52 o DL 3% 3 L/ W/ 5/87 0 EXP. ANCHOR S STEEL PRECAST PRESTRESSED CONCRETE NOTES:
.............................. ps . — C.
PARTITIONS . .« + o oo 15 psf BE INSTALLED AS PER MANUFACTURER'S RECOMMENDATIONS WITH MAXIMUM SPACING 1. STRUCTURAL STEEL WORK SHALL BE PER AMERICAN INSTITUTE OF STEEL FOOTING SCHEDULE
) OF 167 0C. (UON) CONSTRUCTION (AISC) SPECFICATION, NNTH EDITON, MATERIAL " [0A0S AS NDICATED ON THE CONTRACT DOCUMENTS FOR THE SPANS INDICATED.
CORRDORS (ABOVE. 1st FLOOR) ... " """ 80 paf 6. MASONRY REINFORCING SHALL BE LAPPED AS FOLLOWS: (D5 1/2 SUB W/ §4 @ & 0. EW. o e e R SR PR DESIGN SHALL BE IN ACCORDANCE WITH THE ACI 318 AND UNDER THE SUPERVISION SIZE DEPTH SHRFORERE REMARK
""""" PS : : @EL = 100-0" ASTM  AS3 GRADE B — STANDARD PIPES Fy = 35 ksi OF REGISTERED PROFESSIONAL ENGINEER. ADDITIONAL LOADS SUCH AS SNOW DRIFT TRANS. LONG.
MECHANIGAL ROOMS . e 80 pof $3BR = 187 46 BAR = 36 ASTM  AS0 — BRADE B — 3 T il i LOADING AND LOADS FROM ALL OTHER DISCIPLINES SHALL BE THE RESPONSIBILITY
ROOF_LIVE_LOADS: f4BR = 240 f7BAR = 42 ASTM - ASOD CRADE B~ HSS TUBES Fy = 46 ki OF THE P.C. ENGINEER. — —
: = o = ASTM  A36 PLATES, BARS, MISC. SHAPES (ANGLES)Fy = 36 ksi 1 -8~ CONT 1-0 2 — #5
FLAT ROOF SNOW . .« v v oo Pf = 35 psf 7 BAR = 30 18 BAR = 48 (%) DUE TO PROXIMITY OF EXISTING FTG. THIS CHANNELS, AND RODS — o o
IMPORTANCE FACTOR . v s =10 7. VERTICAL REINFORCING BARS SHALL BE HELD IN POSITION AT TOP AND BOTTOM AND PORTION OF NEW FTG. MUST BE EARTH FORMED ASIM ~ F1354-09 GRADE 36 = ANGHOR BOLTS Fy = 36 ksi 7 SEL SPRCICATIONS FOR CONCRETE AND RENFORCING REQAREMENTS. 2-0 CONT| 1-0 4 0 601 2~ &
EXPOSURE FACTOR . .. Ce =10 " AT 192 (REINF.) DIAMETER INTERVALS MAXIMUM. LENGTH OF REINFORCING BARS TO AND STOOP FTG. EXCAVATED AFTER WALL IS ASTM  A325  CONNECTION BOLTS Ft = 44 i 3. VERIFY SIZE, NUMBER AND LOCATION OF OPENINGS WITH THE MECHANICAL 2-6 CONT| 1-0 #4 @ 6-0"| 3 - #5
THERMAL FACTOR . . . . . oot Ct = 1.0 : \ BACKFILLED TO TOP OF EXISTING FTG ASTM  A490 CONNECTION BOLTS Ft = 54 ksi : ' '
GROUND SNOW LOAD Py = 50 psf BE COORDINATED WITH GENERAL CONTRACTOR AND MASONRY CONTRACTOR. : v CONNECTION. NUTS ELECTRICAL, STRUCTURAL, AND ARCHITECTURAL PLANS.
CONSTRUCTION LOADING . . . .+ v o v oot 25 psf 8. WHERE CELLS ARE TO BE FILLED W/ CONCRETE GROUT, PROVIDE ADDITIONAL FULL ) A 6 oS 4. PRECAST SUPPLIER TO SHOW FIELD ANCHORAGE REQUIREMENTS ON SUBMITTED
DEAD LOADS MORTAR BED AT CROSS WEBS ENCLOSING GROUTED CELL. (B) 4" 5.0. GRADE — REINF. W/ #4 @ SHOP DRAWINGS.
CEAD LUAUS: 1'-0" 0.C, EW.
TYPICAL FLOOR .« + v o eve e e 105 psf 9. CONSOLIDATE ALL CONCRETE GROUT BY PUDDLING OR VIBRATING. 2 Do ONS, SHALL BE NADE N ACCORDANCE W/ THE LATEST 5. PRECAST MEMBERS HAVE BEEN INDICATED ON THE DRAWINGS BY GENERAL SIZE
TYPICAL ROOF . o v o oo, 20 psf - AND DEPTH. THE STRUCTURAL ANALYSIS AND DESIGN OF THESE ITEMS, AS WELL
10.  BLOCK COURSING SHOWN ON STRUCTURAL PLANS MAY NOT BE REPRESENTATIVE OF (B) 30"x36” OPENING — S.D. 19/55106 AISC — AMERICAN INSTITUTE OF STEEL CONSTRUCTION AS LIFTING DEVICES FOR PRE-STRESSED CONCRETE MEMBERS, SHALL BE
LATERAL LOADS (WIND—MWFRS): ACTUAL COURSING. SEE ARCHITECTURAL PLANS AND SECTIONS FOR ACTUAL LAYOUT = AWS - AMERICAN WELDING SOCIETY PERFORMED BY THE PRECAST MANUFACTURER.
BASIC WIND SPEED (3 SEC. GUST) . .. ...... 115 mph OF BLOCK COURSING.
WIND EXPOSURE . .( ....... Vo NS Prgr 1 ASONRY PIERS SHALL BE LAD UP SHULTANEOUSLY WITH WALLS AND SHALL BE 3. COLUMN BASE AND CAP PLATES TO BE WELDED AROUND ALL SIDES. A: DESIGN DEVIATIONS WILL BE PERMITTED AFTER THE ARCHITECTS
IMPORTANCE FACTOR . . . . . .. .. ... ...... w = 1.0 : " APPROVAL OF THE MANUFACTURER'S PROPOSED DESIGN SUPPORTED
INTERLOCKED WITH WALL BLOCKS. 4, BOTTOM PLATE OF STEEL LINTELS SHALL BE WELDED TO THE BEAM WITH 3/16" FILLET
PERIHL PRETRE RO e = WELD (BOTH SIDES) 3" LONG @ 12° 0.C. (L.ON.) B: EESEANLCSELGI\?SESATA?JSE;R/;V;LTS&E AN INSTALLATION EQUIVALENT
LATE||:A/|\DLO RLS/:\NDSE (s;gngg—mms); - 12, FIRST COURSE OF ALL HOLLOW MASONRY SHALL BE PLACED ON A FULL BED OF MORTAR. 5. WELDS NOT SPECIFIED SHALL BE A FILLET WELD, CONTINUOUS AND,/OR ALL AROUND © 0 THE BASIC INTENT WITHOUT INCURRING ADDTIONAL COSTS TO THE
OCCUPANCY CATEGORY """"""""" 111' 13. CAST DOWELS, WITH STANDARD HOOKS, IN FOOTINGS FOR PIERS AND WALLS ABOVE. WITH MINIMUM THROAT DIMENSION AS REQUIRED FOR MATERIAL THICKNESS PER AWS. OWNER.
SPECTRAL RESPONSE . Se = 079 DOWELS SHALL BE THE SAME SIZE AND SPACING OF VERTICAL REINFORCING. (U.O.N.) 5 STRUCTURAL FABRICATORS SHALL SHOW ALL FIELD WELDING REQUREMENTS ON C: ALL REQUIRED MATERIALS SHALL BE SUITABLE FOR THE PURPOSE
------------------ = : INTENDED AND SUBJECT TO PRIOR APPROVAL BY THE ARCHITECT.
Sv=.022 SHOP DRAWINGS SUBMITTED TO THE ENGINEER.
SITE CLASS . . .. .0 £ 6.  PRECAST SUPPLIER SHALL PROVIDE INSERTS & ANCHORS IN PRECAST CONC. UNITS
SPECTRAL RESPONSE COEFF . . .. ... .. .. psS = .131 7. BEFORE ENCASING STEEL COLUMNS IN CONCRETE OR MASONRY, COAT COLUMN FOR SUPPORT OF MECHANICAL & ELECTRICAL EQUIPMENT OR ARCHITECTURAL ITEMS.
So1 = .051 BASES AND TOPS OF ANCHOR BOLTS WITH ASPHALTIC ROOF CEMENT. VERIFY LOCATIONS W/ ARCHITECT.
SEISMIC DESIGN CATEGORY . . ... ........ "A”
SEISMIC RESISTING SYSTEM . . . . . . . . . . . ... ORDINARY REINF. CMU WALLS 8. BEAMS AND COLUMNS SHALL BE ERECTED TRUE AND PLUMB WITHIN AISC TOLERANCE. 7. ALL SUBMITTAL DRAWINGS AND CALCULATIONS SHALL BE SIGNED AND STAMPED
ANALYSIS PROCEDURE . . . . v oo ve e e e E.LF. PROVIDE TEMPORARY BRACING AS REQUIRED. BY A PROFESSIONAL ENGINEER REGISTERED IN THE STATE THE PROJECT WILL BE
9.  BEARING PLATES FOR STEEL COLUMNS SHALL BE DRY PACKED WITH A NON—SHRINK, ggm%iggggbuuMSQm%THE DESICN LOADS ‘& SPAN CONDITIONS INDICATED ON THE
NON-METALLIC GROUT AS SPECIFIED. '
8.  HEADERS AT OPENINGS THROUGH PRECAST MEMBERS SHALL BE SUPPLIED BY THE
CONCRETE_NOTES: 10.  BRIDGING SHALL BE SUPPLIED AND DESIGNED BY THE STEEL JOIST SUPPLIER, PRECAST SUPPLIER. PRECAST UNITS ADJACENT TO THE OPENINGS SHALL BE DESIGNED
AS PER SJI STANDARDS, FOR THE PROJECT DESIGN LOADS. STEEL JOIST FOR THE ADDITIONAL LOAD AT EACH BEARING LOCATION
1. CONCRETE CONSTRUCTION SHALL CONFORM TO AMERICAN CONCRETE INSTITUTE (ACI) 10.  PROVIDE LAP SPLICE FOR REINFORCING STEEL AS INDICATED IN THE FOLLOWING SUPPLIER TO PROVIDE CONNECTIONS TO ANCHOR BRIDGING TO MASONRY ’
CODES AND SPECIFICATIONS, LATEST EDITION. SCHEDULE: 1. gg‘l}lﬁgg ?JH&%WEIEU%%TERBEQ APBL(/)\\TE OR DETAILS, LAP THE FOLLOWING BARS AS AND/OR CONCRETE WALLS. SEE STANDARD DETAILS. 9. PRECAST SUPPLIER SHALL BE RESPONSIBLE FOR OPENINGS 8” AND LARGER IN SIZE
" ,, : THROUGH PRECAST MEMBERS. HOLES LESS THAN 8" SHALL BE CUT BY THE TRADE
ACl 301 "SPECIFICATIONS FOR STRUCTURAL CONCRETE 11, PROVIDE DOUBLE ANGLE CONNECTIONS AS DESCRIBED IN PART 10 OF THE AISC
ACI 315 DETALS & DETALING OF CONCRETE REINFORCEMENT” REINFORCING STEEL SPLICE LENGTHS A. VERTICAL HOOKED OR STRAIGHT BARS EXTENDING FROM FOOTINGS: MANUAL OF STEEL CONSTRUCTION (13TH ED—ASD) INVOLVED WITH THE APPROVAL OF THE PRECAST SUPPLIER.
ACl 318 "BUILDING CODE REQUIREMENTS FOR REINFORCED CONCRETE” — TYPE #4 SPLICE.
Q C C STANDARD NON-COATED BARS # o CONNECTIONS SHALL BE SELECTED TO SUPPORT BEAM END REACTIONS INDICATED 10.  PRECAST MEMBERS SHALL BE ERECTED SIMULTANEOUSLY ON EACH SIDE OF SUPPORTING
2. CAST-IN-PLACE CONCRETE SHALL HAVE A 28 DAY COMPRESSIVE STRENGTHS CONCRETE |TYPE #1 SPLICE |TYPE #2 SPLICE [TYPE #3 SPLICE | TYPE #4 SPLICE B. HORIZONTAL BARS IN SLABS ON GRADE, GRADE BEAMS, FOOTINGS, & FOUNDATION WALLS: ON THE CONTRACT DRAWINGS. WALLS AND BEAMS TO MAINTAIN STABILITY.
AS FOLLOWS: STRENGTH |[CLASS A SPLICE |CLASS B SPLICE | CLASS B SPLICE | COMPRESSION SPLICE TYPE #2 SPLICE. o IF BEAM END R/EACTIONS ARE NOT INDICATED, CONNECTIONS MUST BE SELECTED 1. PRECAST SUPPLIER SHALL PROVIDE INSERTS AND ANCHORS IN PRECAST CONCRETE
. TO SUPPORT 1/2 THE TOTAL UNIFORM LOAD CAPACITY GIVEN IN THE ALLOWABLE :
3000 psi - FOOTINGS Fe 46 AND |#7 AND |#6 AND [#7 AND|#6 AND|#7 AND| #4 AND LARGER C. VERTICAL BARS IN COLUMNS & PIERS: UNIFORM LOAD TABLES, PART 3—13TH ED—ASD, FOR THE SPECIFIED BEAM SIZE, UNITS FOR SUPPORT OF MECHANICAL AND ELECTRICAL EQUIPMENT AND/ OR
3000 psi - EXTERIOR FOUNDATION WALLS SVALLER| LARGER IMALLER| LARGER |wALLER| LARGER TYPE #4 SPLICE. SPAN, AND STEEL GRADE (U.O.N.) ARCHITECTURAL ITEMS. VERIFY LOCATIONS WITH APPROPRIATE TRADE.
3000 psi -~ INTERIOR FOUNDATION WALLS D. WHERE SPECIFICALLY NOTED ON PLAN OR DETAILS:
3000 psi — INTERIOR SLABS ON GRADE 3000 psi | 44 Bd | 55 Bd | 57 Bd | 71 Bd| 85 Bd |107 Bd 30 Bd NP 43 ShLICE - o CONNECTIONS SHALL HAVE MINIMUM ROWS OF BOLTS FOR BEAM DEPTHS AS
4000 psi - EXTERIOR SLABS ON GRADE — AIR ENTRAINED t : INDICATED IN PART 10.
4000 psi - STRUCTURAL SLABS 3500 psi | 41 Bd| 51 Bd | 55 Bd | 66 Bdf 79 Bd | 99 Bd 50 Bd 12. PROVIDE ADEQUATE SUPPORT BARS AND ACCESSORIES TO HOLD REINFORCING . ,
3000 psi — TOPPING (REINF. W/ FIBERMESH) : BARS FIRMLY IN PLACE T SPECIED COVERAGES 12.  FRAMED STEEL BEAM CONNECTIONS SHALL BE "BEARING TYPE”, (U.O.N.).
4000 psi - EXTERIOR SLABS ON DECK — AR ENTRAINED 4000 psi | 38 Bd| 47 Bd | 49 Bd | 62 Bd| 74 Bd | 92 Bd 30 Bd :
- 13.  STEEL BEAM KEY:
3. CONCRETE MIX DESIGN SHALL BE BY AN INDEPENDENT TESTING LABORATORY. 9000 psi | 34 Bd| 42 Bd | 44 Bd | 55 Bd| 66 Bd | B3 Bd 30 Bd 13. CONTROL JOINTS SHALL BE PLACED I\ A SQUARE PATIERN WITH A WAXILN NUMBER OF HEADED STUDS (EQUALLY SPACED)
6000 psi :
4. CAST-IN-PLACE CONCRETE SHALL BE SUBJECT TO TESTING BY AN INDEPENDENT bt | 31 Bd| 56 Bd | 40 Bd] 50 Bd] 60 Bd | 76 Bd 30 Bd S NOT POSSIBLE, THE MAXMUM LONG SIDE TO SHORT SIDE OF THE JOINT CAMBER
TESTING LABORATORY. SEE PROJECT SPECIFICATIONS FOR REQUIREMENTS. Bd = BAR DIAMETER PATTERN SHALL NOT EXCEED A RATIO OF 1.25:1. CONTROL JOINTS SHALL BE ELEVATION FROM T.0. STEEL
NOTES: LOCATED AT ALL ISOLATION JOINTS & WALL CORNERS. CONSTRUCTION JOINTS W 16x40 (15)8") (€0'~0") (BEAM SIZE)
5. NON WELDED REINFORCING STEEL SHALL BE GRADE 60 DEFORMED, BILLET—STEEL, SHALL BE LOCATED BY THE CONTRACTOR AS REQUIRED FOR CONSTRUCTION
ASTM AB15, U.O.N. ALL WELDED WIRE FABRIC (WWF) SHALL BE PLAIN, ASTM A185. 1. MIN. LAP: 18" FOR TYPE #1 THRU TYPE #3 & 12" FOR TYPE #4 SPLICES. WITH A MAXIMUM OF 3,000 SQUARE FEET. THIS NOTE SHALL GOVERN OVER 20 20 (BEAM END REACTION)
ALL JOINTS SHOWN ON PLAN.
6. WELDED REINFORCING STEEL SHALL BE GRADE 60, LOW CARBON, ASTM A706. 2. REQ'D. SPLICE LENGTH = LISTED SPLICE LENGTH x ADJUSTMENT FACTORS 14, LINTELS SHALL HAVE A BEARING OF 1" PER FOOT OF SPAN AT EACH END, 8" MIN.
ADJUSTMENT FACTORS = 1.0 IF NONE BELOW APPLY 14, CAST DOWELS, WITH STD 90? HOOK, IN FOOTINGS FOR CONCRETE PIERS AND WALLS ABOVE. LINTEL ANGLES WHICH HAVE NOT BEEN SHOWN OTHERWISE, TO BE AS FOLLOWS
7. CLEAR CONCRETE COVER FOR ALL REINFORCING SHALL BE AS FOLLOWS, UNLESS » DOWELS SHALL BE THE SAME SIZE AND NUMBER AS THE VERTICAL REINFORCING. (U.O.N FOR EACH 4" OF WALL THICKNESS:
OTHERWISE NOTED ON THE DRAWING: A.  FOR HORIZ. REINFORCING W/ MORE THAN 12" OF FRESH CONCRETE - (UON.) . \ \ \
_ - SPANS TO 40" - L 31/2"x31/2" x 1/4
CONCRETE ON SOIL 3 PLACED BELOW BAR — ADJUSTMENT FACTOR = 1.3 O 0 B0 S s
............................ - — - X X
SLABON GRADE . .. .. ..................... MIDHEIGHT B. FOR Fy OTHER THAN 60 ksi — ADJUSTMENT FACTOR = Fy (USED)/ 60 6'-0" T0 8’0" - L5 x31/2"x 1/4
WALLS, STRUCTURAL SLABS -FOR SPANS GREATER THAN 8'-0" CONTACT STRUCTURAL ENGINEER.
FORMED AND EXPOSED TO EARTH OR WEATHER: C. FOR LIGHT WEIGHT CONCRETE — ADJUSTMENT FACTOR = 1.3
6 THROUGH #18 . . . o v e e e e 2"
ﬁs AND SMALL#ER ________________________ 112 D. TYPICAL EPOXY COATED REINFORCING — ADJUSTMENT FACTOR = 1.2 15. DO NOT PAINT STEEL TO BE FIELD WELDED.
NOT ;6%1)(?0%\35[? STSALEfngH AND WEATHER: 34 E. EPOXY COATED REINFORCING W/ COVER LESS THAN Bd OR CLEAR 16.  STEEL JOISTS TO BE MANUFACTURED AND ERECTED IN ACCORDANCE WITH STEEL
BEAMS AND COLUMNS (COVER TO STIRRUPS OR TIES) . . 1 1/2" SPACING LESS THAN 6 Bd — ADJUSTMENT FACTOR = 1.5 JOIST INSTIUTE. SPECIFICATIONS.
) 3. ALL ADJUSTMENT FACTORS THAT APPLY SHALL BE USED TO CALCULATE 17. VERIFY LOCATION OF ROOF OPENINGS WITH MECHANICAL CONTRACTOR. ROOF
8. PROVIDE EXTRA REINFORCEMENT AROUND ALL OPENINGS GREATER THAN 12" SQUARE REQUIRED SPLICE LENGTH. OPENINGS SHALL BE FRAMED WITH L 3" x 3" x 3/8" ON FOUR SIDES. (U.0.N.)
OR 12" IN DIAMETER, INCLUDING DOOR OPENINGS, IN CONCRETE WALLS & SLABS. PROVIDE SEE STANDARD DETAILS.
TWO (2) #5 BARS @ 3" 0.C., ON EACH SIDE OF THE OPENING EXTENDING 24" BEYOND THE
CORNER OF THE OPENING & TWO (2) #5 BARS AT 3" 0.C. BY 3'-0" LONG DIAGONAL BARS 18.  ROOF PERIMETER STEEL ELEMENTS SUCH AS ANGLES OR BENT PLATES NOTED TO BE
AT EACH CORNER. PLACE DIAGONAL BARS CENTERED ON CORNER @ 2" CLEAR OF CORNER. CONTINUOUS, SHALL BE FIELD SPLICED WITH A FULL LENGTH SQUARE GROOVE
ADDITIONAL REINFORCEMENT SHALL BE PROVIDED AT EACH LAYER OF REINFORCING. FULL PENETRATION WELD UTILIZING A MINIMUM 3/16” ROOT OPENING.
9.  REINFORCING STEEL SHALL BE BENT, SPLICED, AND PLACED IN ACCORDANCE WITH CO N ST RU CTI O N DOC U M ENTS 5 U BM ISS I O N
THE ACl 301 (LATEST EDITION).
APPROVED: SERVICE LINE DIRECTOR DATE: | [ APPROVED: INFECTION CONTROL NURSE DATE: ||| DRAWING TILE PROJECT TITLE 12/16/14 |
-7 - STRUCTURAL MECHANICAL, FIRE PROTECTION & ELECTRICAL CIVIL |O RHEr?x-:EEgRgEvosFYpEEQI\RTE%'SEssLﬁANE' SEESLFE%HON FOOTING AND FOUNDATION; || EXPAND / CONSTRUCT
GROUND FLOOR PLAN OUTPATIENT MENTAL e St. Cl d VA
N - HEYER ENGINEERING OBERMILLER—=NELSON ENGINEERING, INC HANSEN THORP PELLINEN OLSON, INC MY DIRECT SUPERVISION AND THAT | AM A DULY APPROVED: GEMS COORDINATOR DATE: | [ APPROVED: PATIENT SAFETY DATE: 1:1 " Oou
|- - 5 T B ) T T T THE SIATE OF WNNESOTA. D SO o o se o || HEALTH CLINIC oo Health Care System
810 First Avenue North ' ' ' ) DATE: 656-341 Brainerd | Montevideo | Alexandria
- | - - Fargo, North Dakota 58102 APPROVED: PROJECTS SECTION MANAGER DATE: | [ APPROVED: CHIEF OF POLICE DATE: FOSS PROJ. NO. 1327.00
Phone: 701-282-5505 _ LEED BUILDING COMMISSIONING INDUSTRIAL HYGIENIST Y APPROVED: CHIEF OF STAFF DATE: | [ BUILDING No CHECKED BY | [ DRAWN DRAWING NO. /
T oo EcoDEEP COMMISSIONING SOLUTIONS LEGEND TECHNICAL SERVICES, INC. —— — — f > A 11-SS101 =y,
Rt gl A AR, NORTH DAKYTA 50108 L T DATE: 2-6-44 REG. NO: 19787 ' ’ : " || [APPROVED: HEALTH CARE SYSTEM DIRECTOR DATE: Kc;c:nmz DICAL CENTER
No REVISION DATE ST.CLOUD, MN 56303 owe. 53 oF 120 |
VA FORM 08-6231
1 2 3 4 5 6 7 8 9




= one foot

three inches

one foot

one and one half inches

one foot

one inch

one foot

three quarters inch

one foot

one half inch

one foot

three eighths inch

one foot

one quarter inch

one foot

one eighth inch

16

T W

2 3 | 4 | 5 | 6 | 7 | 8 | 9
J
| 171'-6"
3-0" 10'=5 23 -7 W 19'-5 W 20'-5" WL 20'-5 W 20'=3 1/2
82'—8 38'=0
\ \ \ \ 1
| ‘ | w ‘ 510
‘ ‘ ‘ ‘ I LS I - -~ 46]
i SR 2 - /T8
‘ 16 (16°\[ ' il 3107:
‘ 10 &), ~
| | S = gl
| | | | ©
EXIST'G_BUILDING e L T | =
| | | al ;
| STAR 1 w ‘ | 7 6]
‘ . ‘ i ¥ 721 7 _ == ] N7 A X217 /- ,ﬂ‘ %L/
<7 + + :
ZlZ ‘ : Ji :C‘D ‘ >(‘[f
v I ELEV. ‘ ‘ «g :7 "9
7m7 : il I I I »‘
b ‘ ‘ : |
L]J 0 T 0 | s\/ | C‘\‘ | |
Rl | - | ‘
- p | LW — = - /L L (F)W 24x551 (E)W 24x55 a1
I - S s ‘ ‘ e e et . .
| | = ‘
| s <C |
<+ | |
i & -
Nl 7, < D \/ 5 -
9 }O@ [ | o
N v — - : R‘
% | -
é:ﬁL B L(E)W 18x86 21x44 (E)W 124x55 W 24x55 Llifiﬁgﬁi 77777 H@
%o g EZI*@ i
..l IL Q)Q\/ \EQ\ | L4
G +
TN } — —|— — |
I R \ : 1T E
| (EW 14x22 | — 3 | i
— = O . | =
1L e SHADED AREA = < ;K
2l " /S.L.L. = 125 P | | ‘
- i Y S.D.L. = 10 PS | i
& | Ll &, | :
i ~ T (E)W_18x86 | 52 | ()W 21x50 (E)W 24x55 45 (E)W 21x44 (E)W 24x551T—155) (E)W 24x55 | o
‘ = £f =
I - | NRRE | | |
. ] ol | 3 spLceL” 1
Sl | J :
g g b s SR seto f
| —fio | < N E ‘
Sl | | - & D % =
‘ %Jﬁ‘ ‘ \ = O y =
: e o] O | -
. : IS N' 9 F N
w I X : SIS
| . A | ) | |
| 2«70 7 J i ! } }V* A/ S 7177.\[;7 Ve DAVAY A SYa vy e Ay HE A = A o v s VA N S ¥ g v S VARV A WA A V2 i S S e v T7/ N 1] ! —
fi w gl \/\‘ﬁ 4 e R <]
. | A \ ‘ . =
| /® o~ | ‘ N Lt G . 1’244 L/W’Z”
] | V4 ‘ ‘ A ‘ | - [@N B
U ‘ | 4 | | B
7/‘T7 - ) 1"77777T7 4 N r&"? 77‘”77‘5‘7 71‘{: ‘ ! :C\]
c L — A I |
Y S
i . | ' LINTEL SCHEDULE
] Z\ﬁL \/@ 19"
240" i 5 99'-8" 210 MARK LINTEL DETAIL
, L1 2- L 4 x 3 1/2 x 1/4"] SD. 11/55107
E)TS 10 x 6 x 3/8 o 4
J (E) x 6 x 3/ 165’8 L2 | W 8x10 W/ 1/4" PLATE EXIST,
I . L3 | WT 5x11 W/ 1/4” PL. & | S.D. 11/55107
) (E)TS 12 x 6 x 1/2 F|RST FLOOR FRAM|NG PLAN L 4x31/2x 1/4" GALV.
NORTH 1/8" = 1'=0" @ HOLLOWCORE BRG. EL. = 112'-8" (U.O.N.) L 4 W 8x24 W/ 1/4" PLATE EXIST.
- y L5 W 16x31 W/ 1/47 PLATE EXIST.
E)TS 12 x 6 x 1/47 L6 | Waxi3 EXIST.
| V L7 L31/2x3x 1/4 EXIST.
| L8 2-L31/2x31/2x1/4 SD. 17/55106
! { KEYNOTES: NOTES:
A (D) EXISTING 8” HOLLOWCORE ROOF PLANK W/ (&) EXISTING 8” HOLLOWCORE W/ 3" NON—STRUCTURAL 1. SEE SHEET SSTOT FOR STRUCTURAL NOTES
NEW 3 CONC TOPPING. i} TOPPING ON WATERPROOF MEMBRANE 2. REINF. ALL MASONRY WALLS W/ #5 VERT. @ 3’_4” 0.C. (UON)
S.D.L. = 60 PSF (INCLUDES 3" CONC. TOPPING) S.D.L. = 45 PSF (INCLUDES TOPPING)
S.LL = 80 PSF (ROOMS & OFFICE) S1 | = 150 PSF
(D) EXISTING 9 1/4” CSJ 12GA METAL JOISTS 7) SNOW DRIFT
@ 1-40.C 121 PSF @ HIGH ROOF TO 30 PSF @
DISTANCE SHOWN
@5 1/2” CONC. SLAB W/ #4 @ 8" 0.C. EW.
SNOW DRIFT
(L) EXISTING 12K1 STEEL JOIST W/ R6 JOIST
COLUMN SCHEDULE SYTENSION, 75 PSF @ HIGH ROOF TO 30 PSF @
DISTANCE SHOWN
MARK COL. SIZE BASE PLATE DETAIL (5) EXISTING 8" HOLLOWCORE ROOF PLANK (FUTURE FLOOR)
% I A 0 0 T EELL = 528 ESSFF . @ECXE;CNAGTOMNECH OR ARCH. OPENING VERIFY SIZE
E E g : g : %jn B . B : J Vj (WITH DRIFT LOAD SEE PLAN)
R 6 % 6 x 5612 X 1 x T/ CURE 008 LA {0 CENTER NEW OPENING ON JOINT BETWEEN 2 PANELS.
T (1S 6 x 6 x 3/8] 12 x 12 x 1 1/2° SOL = 60 PSE(INCLUDES 37 coNC. ToppiNg)  GROUT CORES SOLID 5'-0" FROM GRID 'S5
" S 6 x6x /212 x 127 x 1 1/2 S.LL = 80 PSF (ROOMS & OFFICE)
{dD ADD STEEL TO SUPPORT CUT PANELS. SHIM TIGHT
TO CUT PANELS, S.D. 2/S107 & 6/S107.
APPROVED: SERVICE LINE DIRECTOR DATE: | [ APPROVED: INFECTION CONTROL NURSE DATE: ||| DRAWING TITLE PROJECT TITLE 12/16/14
- - - STRUCTURAL MECHANICAL, FIRE PROTECTION & ELECTRICAL CIVIL o RED By MY O Unpem FIRST FLOOR FRAMING EXPAND / CONSTRUCT e
- | - - HEYER ENGINEERING ~ OBERMILLER—NELSON ENGINEERING, INC HANSEN THORP PELLINEN OLSON, INC MY DIRECT SUPERVISION AND THAT | AM A DULY PPROVED: G GO S| [ P S 50| PLAN OUTPATIENT MENTAL | 1. St. Cloud VA
- - - FARGL NORTH DAKOTS 30103 P ARGo. NORT DAKOTA 50105 "EDEN PRATRE, MN 50541 THE STATE OF MINNESOTA FPPONE ISSOCHTE TEALT G STSTRM Becrer HEALTH CLINIC b5 o4 Health Care System
810 First Avenue North ' ' ' ) DATE: 656-341 Brainerd | Montevideo | Alexandria
- - - Fargo, North Dakota 58102 APPROVED: PROJECTS SECTION MANAGER DATE: | [ APPROVED: CHIEF OF POLICE DATE: FOSS PROJ. NO. 1327.00
Phone: 701-282-5505 LEED BUILDING COMMISSIONING INDUSTRIAL HYGIENIST Y APPROVED: CHIEF OF STAFF DATE: | [ BUILDING No CHECKED BY | [ DRAWN DRAWING NO. /
Ardniigchre T EcoDEEP COMMISSIONING SOLUTIONS LEGEND TECHNICAL SERVICES, INC. —— = — i ” > -S5102 ——
N ~ o SAINT PAVL, N 55116 “*Finco, NORTH DAKOTA 50102 "FARaD, ND 50103 DATE: 2-6-14 REG. NO: 19787 ' ' ' ||[/FRere: A e ST DiecroR M| VA MEDICAL CENTER
No REVISION DATE ST.CLOUD, MN 56303 owe. 54 oF 120
VA FORM 08-6231
2 3 4 5 | 6 7 8 9




= one foot

three inches

one foot

one and one half inches

one foot

one inch

one foot

three quarters inch

one foot

one half inch

one foot

three eighths inch

one foot

one quarter inch

one foot

one eighth inch

16

2 3 4 | 5 | 6 | | 8 | 9
\ % ) \ % ) S/ CJ/
1716
| 23 -7" | 19'-5 20'-5" ] 203 1/2
‘ ‘ |
82'—8 | 38'-0"
| | /21
| | S/ |
B S
| | @ [l @ B .
| \SSI0K NS0/ -
| | LN T woex28 | A -
= - = 3
| _ _ |
:_\ Lo L STAIR 3l ‘ W %H@
[ A
D
- i | M
7 o) L1 4
(A 1A : F B
. gl W - ELEV. @ S =
- ﬁ) © _ & _|| ‘ ‘ _|| N
o ~ Lﬂ - o) I o™
i} iy i} a | ; ;
: N .‘W L3 -3 Y |
- 7@ fffffffff At i N === ,f—f—f—%;f—f— 1 W 18x46 @ i W 18x46 | \ 7777777777 o <]
@ @ . L e
5 2 S < Ak Y N S0
- . IR e /s |
7 N % = 310/ — —
4 _ % == Em STAR/ \ |[= -
= v ) W Bx18 < >
() — Vv @ %
—] WK = %@ %Q) \S10]/
W 24x62 I (EW 21x50 | e b (E)W 24x55 X W 18x5o| ay . @
5052 | | - 5547 = Sl
= | | 72\ 1 (13NN
=R | D/_bk S0 © S
| w W 6x15 | | ®1 W &T15 | :
| | A ) | © B T
| —B ]
3 | ‘ (E) He. w/ — || | g -
- 3 | | NEW 3" TOPPING[ | | S N
d = | w <+ = | =
| N N |
| “\ | 3 & \\ \\ I
» | + G ‘ + G = E%@ ~G ‘ +G ~
: "D & | Y | & WON | 4 4 W_6x1 -l ‘ﬁ[jl
i = 1 £ : £ £ ks 1S x
i ﬂ i~ ; 160 (E)W 24x62 60152 (EW 21x50 521,/55 (E)W 24x55 3b, 45 (E)W 21x44 45 /55 (E)W 24x55 45,1 W 18x50 \ 7777777777 @
| k// ‘ : # "//
! ] ~ 20\ ’ o (13
L _ ‘W < 7 @ W W .
| [ R I ! .
- —-—® 1 7 "
© H1 ‘™~
B I‘Q [N
.$ @D 3 9 @ .
- 8 1
7 “Q g = a‘m’ |X| }X{ @ @
- & - -3 -3 -3 1-3 -3 -3 -3 -3 -3
27 . /,‘ e ——— %%E e et P E———3
— = N -3
o~ \ P =t i <]
NEW 8" CMU W/ #5
a ,_ ”
S S VERTS. @ 3'—4" 0.C.
T
| A -3 -3
| Cl\l I t T
24'-0" 21'=0 99'-8" 21'-0
. 165 -8"
— KEYNOTES:
NORTH 1/8" = 1'-0" @ HOLLOWCORE BRG. EL. = 126'-3" (U.O.N.)
- (@) EXISTING 8" HOLLOWCORE ROOF PLANK W/
- NEW 3" CONC. TOPPING.
[ NOTES: S.D.L. = 60 PSF (INCLUDES 3" CONC. TOPPING)
g S.LL. = 80 PSF
1. SEE SHEET SS101 FOR STRUCTURAL NOTES
/ 2 REINFORCE ALL MASONRY WALLS @ 3'-4” 0.C. (U.O.N.) (2) REMOVE C 4x5.4— BRACE S.D. 3/55108
/ROOF BELOW (& NEW 3" CONC. TOPPING
i
— — @ NEW 8" HOLLOWCORE
S.D.L. = 60 PSF (INCLUDES 3" CONC. TOPPING)
S.L.L. = 80 PSF
(5) ADD STEEL TO SUPPORT CUT PANELS. SHIM TIGHT TO
i i CUT PANELS, S.D. 2/5107.
{6) MECHANICAL OPENINGS
W COLUMN SCHEDULE
MARK COL. SIZE BASE PLATE DETAIL
A TS 4 x 4 x 1/47110" x 10" x 17
B TS5x5x /4T 117" x 117 x 1 1/4
"C” TS 6 x 6 x 1/4” 23/5107
D TS 6 x 6 x 5/16]1127 x 127 x 1 1/4
E TS 6 x 6 x 3/8 1127 x 127 x 1 1/2
: TS6x6x 1/271127x 12" x 1 1/2
APPROVED: SERVICE LINE DIRECTOR DATE: | [ APPROVED: INFECTION CONTROL NURSE DATE: DRAWING TITLE PROJECT TITLE
-| - - STRUCTURAL MECHANICAL, FIRE PROTECTION & ELECTRICAL CIVIL | HEREBY CERTIFY THAT THIS PLAN, SPECIFICATION MECHANICAL PLATFORM EXPAND / CONSTRUCT | 12/16/4
—_— 1 OR REPORT WAS PREPARED BY ME OR UNDER OUTPATIENT MENTAL PLOT SCALE s cl d VA
- - - HEYER ENGINEERING OBERMILLER—NELSON ENGINEERING, INC HANSEN THORP PELLINEN OLSON, INC MY DIRECT SUPERVISION AND THAT | AM A DULY S PROVED GOiS COORDITOR | [ PP ROvES PR S 5| FRAMING PLAN 1:1 t. ou
1020 36TH STREET SW 2201 12TH STREET NORTH, STE. E 7510 MARKET PLACE DRIVE REGISTERED ENGINEER UNDER THE LAWS OF APPROVED: ASSOCIATE HEALTH CARE SYSTEM DIRECTOR HEALTH CLINIC PROJECT NO. Health Care Svstem
- = - 810 Frst Avenue North FARGO, NORTH DAKOTA 58103 FARGO, NORTH DAKOTA 58102 EDEN PRAIRIE, MN 55344 THE STATE OF MINNESOTA. OATE: 656-341 —h— leexandﬁa
- - - Fargo, North Dakota 58102 APPROVED: PROJECTS SECTION MANAGER DATE: APPROVED: CHIEF OF POLICE DATE: : FOSS PROJ. NO. 1327.00
N _ Phane: 701-282-5505 LEED BUILDING COMMISSIONING INDUSTRIAL HYGIENIST Y APPROVED: CHIEF OF STAFF DATE: | [ BUILDING No CHECKED BY | [ DRAWN DRAWING NO. ‘/
icdli=c A EcoDEEP COMMISSIONING SOLUTIONS LEGEND TECHNICAL SERVICES, INC. —— = — M ” °“ M-S8103 e—
N B SR SAINT PAUL, MN 50116 “*FARC0, NORTE DAXOTA 5010 "¥iRD, ND 50103 " DATE: ___ 2464 REG. NO: 19787 ' | | ||| P e AR ST feroR || VA MEDICAL CENTER
No REVISION DATE ST.CLOUD, MN 56303 owe. 55 oF 120

VA FORM 08-6231




one foot

three inches

one foot

one and one half inches
”

one foot

one inch
”

one foot

three quarters inch

one foot

one half inch

one foot

three eighths inch

one foot

one quarter inch

one foot

] 19-5 1/2" | 23-7" L 19'=5" 'b 20'-5" | 203 1/2" |
I | | |
| | | CONT. BRIDGING
| | i [S.D. 21/55108 |
) ” I | | I_-.__.I__.__.__._-_.__._-_IZ7777g77; 77777
#12-14 SCREWS @ 1'—0" 0.C: I | | | e e i e i i | <I
TOP & BOTTOM | | VI
CONT. 10”, 18 GA. TRACK | / | o
CONT. 10", 18 GA. CSJ JOIST I (6 UL <
| 103/ | | | o 2
N S R A : I L
_ EXIST'G_BUILDING ] % == o | | o [
< 00 0 | } :
N R N AR N | | | i
| \ | T !
(7 GIRDER CONN. N S o < I | « : i 4
3104 17 = 10" A\ I | ‘ | i . W | ]
I‘I v | / [ i I I
- e | > 0 | | | | TN
I I .\ : / L L1 : //I_ W 8x18 HOIST BM ! I ! I
n 1 / -- 171! S.D. 6/55107 ' | T
l . ;:@/{\; . 1 sz/: / | | : T b
0 B N o - ! I | i i
— o ! I 7 ! 00
| - 1l N & I | CONT. BRIDGING BN : T T
16 GA. CLIP ANGLE W/ I 1l IR Slcs S - /| SD. 21/ss108 (TYP.) N 7 T
4 = #12-14 SCREWS GIRDER S.D. 1/55104 ] S S - | N R e S S 1 I s el s i —r— i
EA I_EG = N | : i N 'lh\l B:Ol L\/ {I Jl \77I77A77\<I>7 7/ ,7, i 7—:»7 I R
i ' : - 12 ! T
- il ' N o I / 4L B — CONT.
N L T3 = " oy | BRIDGING
i o I | ; o~ Y ; L ;/;/= S.D. 21/55108
T | il ] | © 10 | : RN (TYP.)
= I % g ! | - CQ | I AN :/ | A
= ROOF RAFTER I IR b At A H N A — . 1 ® [l w
i : 7 ROOF BELOW A \ = /0N I : R i =
< | S.D. 7/55108 ¥ 11 S YA ~
/ L \\@ | / S o I | | I
A | A | Q\/ ']3 Q)Q 7 I I | @
i : Q S : ;
(7 RAFTER CONN. @ GIRDER = T l > > o — R
ST BTt e By Y e—— W_16x31 _ X rPAW 16x06E == =W 16x061 =T = Al I T
=10 ’ - Ak 1 I 50 52 521 55 AR I
| I ‘ NESE \// |
L T | | | | AL | :
- | : | I | I N I |
- By | | 'T 7 I -
“ ! I L &\I‘ | \@ I S.0. 7/S5108— :., | N N =
| CONT. BRIDGING 1l O | | 18K3 STL. JOISTS . | N ] s
— / ! N
S.D. 21/S108 (TYP.) HR®) S| | -con N @ 5-0" 0C. B Q) O |~
— @# iiiiiiiii S | I BRIDGING i i | | S
16 GA. CLIP ANGLE (EA. SIDE) W/ { i e il il _ S.D. 21/55108 | . | I T
4 — #12-14 SCREWS et M @\\ 2N s LR R o | o = LN T !
4 i ——————— ; i . | |
FA. LEG b I A I : A" /~CONT. BRIDGING SD. 21/s3108 |[1 o || R
= P h 7 P N I | ) G I
il GIRDER S.D. 1/SS104 - I . | Y 1 : ; S.D.|21/55108 (TvP.) (TYP.) S : : |
L T / g P~ | 1Y | | W 1606 55 16x26 s5lp I 1 T @
N Il Il | " n t f
1 J | b | T T TR SEEN\RpE A L
0 [ J N\ / N | :
L I :I _____________ I : Ag T \\ 7 I Vi : </ |
\—.-.— L s ¢ N | NIRIE
GIRDER S.D.1/SS104 J @% ,,,,,,,,, ! | _ ) N : i
il | VP, @ £ 4 ) ) il
hi | SR s \ O\ |/ T Z
| | Z I
o [ | b -
73\ GIRDER — GIRDER CONN. S 1l | — N A —
| ; | |
A0 1 = -0 N Y T | 1 e e T T e T e B i T T e o o T e e i e o O i o A e e e e o 0 o ot ot i N - I3
— | 7 \ i
S B T N 0 5 A 0 9 |
3 G B N | e e e o o A S
(N 7 N L S.D. 2/55104 CONT. BRIDGING ,
— 0 L | | N (TYP. ALL DORMERS)  S.D. 21/S5108 (TYP.) (10N
I | .I// I \\ I ks W
I a ! N |
DORMER RAFTERS B E ] e v | |
-t _C|>__._ | | : |
| o ~ | | I
— Ll _ — A= __I___ J N N NN B I
CONT. STUD & TRACK = 16 GA. CLIP ANGLE W/ 240" 21°-0" 99'-8" 21 -0
: 3 — #10-16 SCREWS .
S.D. 1/S5 (SIM.) T U | 165’8
SCREW T ROOF SHEATHING W/\ —— 3 0
?10—16 SC)REWS @ 6" 0.C. I | | I/
STAGGERED — ! ; i
/ ROOF_FRAMING PLAN
ROOF SHEATHING | NORTH 1/8” = 1'-0" @ JOIST BRG. EL. = 141'=6" (U.O.N.)
ROOF RAFTERS [ NOTES: KEYNOTES:
g 1. REINFORCE ALL MASONRY WALLS @ 3'—4” 0.C. (U.O.N.) D
72\ DORMER CONN.
5109 1 - 1o . BELOWj @) C 4x5.4 NEW BRACE — S.D. 3/SS108
- / @) BASE BID: 10" — 16GA. 50 KSI (1000S200-S4) JOISTS
T — @ 2'-8" 0.C. W/ 1.5 B 20GA. METAL DECK
DEDUCT ALT: 10" — 16GA. 33 KSI (1000S200-S4) JOISTS
@ 2’-0" 0.C. W/ 5/8" RATED SHEATHING
@
3 | () 6”, CSJ, 18ga. STUDS @ 2'~0” 0.C. BEARING WALL
W/ BRIDGING @ MIDHEIGHT
R
I COLUMN SCHEDULE ®
" _— (@) 2" STRAP CROSS BRACE — SCREW TO BOTTOM FLANGE OF JOIST
COL. SIZE BASE PLATE W/ 9 #10 SCREWS
A TS 4 x 4 x 1/47110" x 10" x 17
B TS5 x5 x 1/&] 117 x 117 x 1 1/&
" TS 6 x 6 x 1/4 23/5107
D" 1S 6 x 6 x5/16] 12" x 127 x 1 1/4
B TS 6 x 6 x 3/81127 x 127 x 1 1/27
TS 6 x 6 x 1/2]127 x 127 x 1 1/7
APPROVED: SERVICE LINE DIRECTOR DATE: | [ APPROVED: INFECTION CONTROL NURSE DATE: DRAWING TITLE PROJECT TILE |
- - - STRUCTURAL MECHANICAL, FIRE PROTECTION & ELECTRICAL CIVIL | HEREBY CERTIFY THAT THIS PLAN, SPECIFICATION ROOF FRAMING PLAN EXPAND / CONSTRUCT | 12/16/14
—_— 2 OR REPORT WAS PREPARED BY ME OR UNDER OUTPATIENT MENTAL PLOT SCALE S CI d VA
- - - I-IEYER ENGINEERING OBERMII_I_ER_NEI_SON ENGINEERING, II\IC HANSEN TI_IORP PEI_I_II\IEI\I OI_SOI\I, II\IC III?AEGI:)SI-II?EEIggDSEI\IIDgIII?\I\QEII?OI\IJI\IA[g\IEDRT-II-II'IIAE |I_A®II4 I?)FDULY APPROVED: GEMS COORDINATOR DATE: APPROVED: PATIENT SAFETY DATE: 11 tl ou
_ | _ _ | pughl20,S6TE STREET SV zz%hgon:nN%E% NORTH, STE. E 7510 MARKET | ?%Eﬁgmk THE STATE OF MINNESOTA. APPROVED: ASSOCIATE HEALTH CARE SYSTEM DIRECTOR HEALTH CLINIC g{gsﬂfa% Health Care System
810 First Avenue North DATE: Brainerd | Montevideo | Alexandria

Fargo, North Dakota 58102 APPROVED: PROJECTS SECTION MANAGER DATE: | [ APPROVED: CHIEF OF POLICE DATE: FOSS PROJ. NO. 1327.00
Phone: 701-282-5505 __LEED BUILDING COMMISSIONING INDUSTRIAL HYGIENIST » APPROVED: CHIEF OF STAFF DATE: || BUILDING No CHECKED BY DRAWN DRAWING NO. /
i EcoDEEP COMMISSIONING SOLUTIONS LEGEND TECHNICAL SERVICES, INC. i o8 o -85104 e ——

info@fossarch.com

one eighth inch

-| - - APPROVED: DIRECTOR FMS DATE: | [ APPROVED: SAFETY ANAGER DATE:
2199 PINEHURST AVE 2201 12TH STREET NORTH, STE. E 1128 WESTRAC DRIVE : .
SAINT PAUL, MN 55116 FARGO, NORTH DAKOTA 56102 FARGO, ND 56103 DATE: 12-16-4 REG. NO: 19787 APPROVED: HEALTH CARE. SYSTEM DIRECTOR A | O cAL CENTER

No REVISION DATE ST.CLOUD, MN 56303 owe. 56 oF 120 I

VA FORM 08-6231




= one foot

three inches

one foot

one and one half inches

one foot

one inch

one foot

three quarters inch

one foot

one half inch

one foot

three eighths inch

one foot

one quarter inch

one foot

one eighth inch

16

%

FTG'S. IF SOIL WILL

29 ~3" CLR.
(TYP.)
SEE PLAN 1 L
FOR FTG. SIZE =
& REINF. °
TT—TTT
— 1 A*\ —l=
4 ? AA ‘ ‘ ‘ ‘7
o \
= SLOPE BOT. OF
- L/ 3 CLR-
wE < L/ () NOT STAND VERT.
wm|o-
1'-0" 2a
STEPPED FTG. LINES
SHOWN ON PLAN ARE NOTE:

@ BOT. OF FTG.

SLOPED OR STEPPED FTG'S.

SHALL BE CAST AS A UNIT

/1 STEPPED WALL FTG'S

N106/ NO SCALE

TENSION LAP

S,

N
fv

‘2/
= 0O
S /
zD
S 9Q
= o
GO <
>z
P~ =
ST | n
Som gg
O 1V %

1=

NOTES:

SEE PLAN FOR WALL REINF.
SIZE AND SPACING

1. LAY UP WALL 4'-0" HIGH

2. PLACE REINFORCING BARS

CENTER BAR
IN CELL

3. FILL CELLS WITH CONCRETE @ REBAR

LOCATIONS ONLY (UNLESS NOTED OTHERWISE
ON PLAN FOR ADDITIONAL GROUTING) -

PUDDLE OR VIBRATE TO CONSOLIDATE

4. REPEAT PROCEDURES ABOVE FOR ENTIRE
HEIGHT OF WALL.

5. SEE GENERAL STRUCTURAL NOTES FOR TENSION
SPLICE REQUIREMENTS

/6 REIFORCED MASONRY WALL

95108

NO SCALE

#4 x 4'-6" DWL @ 8" 0.C.

30”
o
5x 4-0" @ 3-4" 0., N|
t —3/4"
H N ”
B 5 1/2" CONC. SLAB
g [ . T.0. FLR. EL. = 100'-0"
@L.0. LEDGE EL. H — 1Y
= 9947 gt ‘
I —3/4"
[ AN
ﬁiﬁimﬂm‘, :
GRADE VARIES LT | I "
SEE CVIL- 4'—2" FDN. WALL—A+— 5
11/2" R~ . L1 1/2” CIR, 2=
4 < |7
#5 @ 1'-4" 0.C. VERT——I' 1 x|
) ” \\;\A} b —
#5 @ 1'-4" 0C. : <
HORIZ. \ : : i
\\‘. /
WATERSTOP ’
\%/ (= RN
| \

. H:
»n

alOF EL =
VSEE PI___AN e

Ll

DRAIN TILE

3" CLR.——J'—'I'-
(1N

\—SEE PLAN & SCHED.
FOR FOOTING SIZE
& REINFORCING

FDN. WALL DETAIL

SS106 1/2” =1

SIKASWELL
WATER STOP
5 1/2" CONC.
SLAB \

2— #4 CONT.

4" SLAB ON GRADE
W/ #4 @ 1'-4" 0.C. EW.

GRANULAR FILL /
\ ™ 4 a

(13

FDN. WALL DETAIL

55106 1/2” — 1 _ ”

(1) FDN. WALL DETAIL

88106 ,]/2” — 1’—0”

SEE PLAN ARCH.

FOR VERT. REINF.

#5 x 5'—0" DWL.
/" © VERT. REINF.

(1 FTG. EXCAVATION (16 DECK

BRG @ EXISTING

S8/ 1 /27 = 1707 S04 /27 =

,]_ ”

(17 CONN. DETAIL

810/ 47 =

1 ’—O”

2 3 | 4 5 6 7 | 8 9
VERT. CAULK ﬁ 1 ol
ﬁi?gﬁRsE/ERz TSOPAC|NG LAP BAR W/ CORNER BARS TO LAP BAR W/ SEE DETAILS FOR SEE DETAILS FOR , -1/ : /\A
1 1/2" CLR. — , ) HORIZ. WALL MATCH SIZE & SPACING HORIZ. WALL , WALL THICKNESS , WALL THICKNESS S VERT. CAULK JOINT @ _ i
(TYP/) OF HORIZ. WALL REINF. ! 1/2 T REINF. OF HORIZ. WALL REINF. REINF. 2 CIR & REINF. 2 CLR— & REINF. VERT. ROD [ EXPOSED SURFACES BLAN FOR SIZE )
. (TYP.) (TYP.) (TYP.) STOCK
q q _ i _ OF WALL . SEE PLANS &
a ' sl f . AW . 2 R LS e— . a DETAILS FOR REINF.
- At - — L q =1, R q L L L CONT. 2x4 7 )
<En: N . 7{ <5E a o ; e %: a . R e . aaf, _AVAA“AQA o B (KEYWSL\Y v “ a g 4
(o ;: AA ’ “ " <4 ;: AA : 4 2 i Af / s, ;: 44 qa s * 4 ‘ : s ;o = :-A/__\_: TYP' _ ) ’ 4 ) EXTEND ALL BARS_
Gl “ S : I STANDARDJ / o< StaoRD ) 1 < — A S 1 Y A | 2 el 2 LAP & TIE
© oL 0 . © . HOOK A7 e HOOK : S| = a0, > Ta T — .
o =L _TYP. WALL REINF. < ~—+—VTYP. WALL REINF. < ok IF THIS SURFACE IS SOIL / olo- el — L i ) | ’
/ “= | SEE DETALS .~ SEE DETALS f bk LOADED SURFACE — (CONST. JO)INT/ | 3E const. Jowt 1 1f - BE oy 3| |48” BAR M . T
o N s EXTEND HORIZ. BARS TO OPTIONAL) W | = (OPTIONAL) W/ > o N 148 BAR * DA LAP .
h | ol ‘N OPP. FACE & PROVIDE VERT. KEYWAL : VERT. KEYWAL WATERSTOP (T J { 3" CLR (TYP.)
[ STANDARD HOOK s 1 I 6”L6”{TYP o «TYP- SPA | 6°,6”| TYP. SPA
Sw[ ﬁé‘;\R\éEFg- I__Vgé i #4 VERT. W/ S e B e «  MAXIMUM [SPA. = 80'-0%
' ' 74 DWL. @ FTG. «— MAXIMUM_|SPA. = B0'-0% N ' “
2\ TYPICAL CORNER BAR DETAIL 3\ TYP. WALL INTERSECTION DETAIL 7\ FDN. WALL CONST. JOINT 7\ FTG. CORNER DETAIL
3108/ NO SCALE 3108/ NO SCALE 8108/ No SCALE 35108/ NO SCALE
CONTROL JOINT MASONRY CONC. SLAB OVER GALV. 1 1/2" 20GA
_SEE PLAN UNIT OR PREMOLDED e FORM DECK W/ #4 @ 1'-4" EM. T e
EE PLAN NEOPRENE CONTROL " i CHier, g
H 1 1 SLAB V. PREMOLDED FILLER 8" CMU— /—SEE PLAN SEE PLAN\ —H 8" CMU
, -»I‘—»I‘-/ BOND BREAK - FOR REINF. FOR REINF. &1
11/2 L= B B
I~ : = @EL = StE PN @10 S8 1] ]
41/2F ; w = 100-0" , j
SAW CUT OR TOOL , . 6" VOID : » — |
1 : SLAB ON CRADE SAW CUT OR TooL 3/16” WIDE SAW CUT bt T ST~ 44 x 2-0" DUL 9 4
o/ S SEE PLAN — PLUS SIAB — FILL WITH 1/4 SLAB DEPTH AR JII=IIE Sl T o ‘
. % STOP HORIZ. REINF. 27 @ JOINT | —L | 1'=4" 0.C. - ~8" i=1E IR @ 1'-4" 0.C. 0 A, | g g ]
3 @ JOINT P POURABLE SEALANT % - - % (1° -4 5 EW. @—"L [ ) SEE_PLAN AN
1" CLR_—> - . <—1" CLR_ _ —I, ‘ P . <A . ) ‘ DWL\\A.- (U‘O_N_) /{ﬂ. EEE FSLE)#—QH_ 1 _4 O.C. i i )
L0 L SLAB ON GRADE Y| SEE PLAN — | #5 DWL—| 4 < HOLD OUT FOR .
SINGLE LAYER ~ DOUBLE LAYER \< SEE SHEET 28-6 FOR | H—— o @TOF. = SEE PU ?\ ~ I5 EW. © ELEVTOR ST Tl
CLEAN JOINT ADDITIONAL CONTROL . = . WATERSTOP ~ -2 |, 1'-0" 0.C. VER. ‘L8
ROD FOAM & \ JOINT DETAILS STOP SLAB o o e oE NOTE: P A e R e e T - EL\| , A 1 1/27 OIR |
CAULK REINF. @ W/CURING AGENT FOR 1. SAW CUT SHALL BE EXECUTED AS SOON AS SEE PLAN & SCHED. — > g L T e - Tt e —
\ ’\ JOINT BOND BREAK PRIOR TO CONCRETE HAS HARDENED SUFFICIENTLY TO FOR REINF. -8 SEE PLAN & SCHED [« s s . !/ T = = & a 1 4
» PLACING ADJ. SLAB PREVENT AGGREGATE DISLODGING BY SAW AND FOR FOOTING SIZE ' - 2 - 2 . = ! ! 2 2 s 4~ % -
3 é?w \ PRIOR TO SHRINKAGE STRESS CRACKING % REINFORCING D
77\ MASONRY WALL CONTROL JOINT /8 FLR. CONSTRUCTION JOINT /N FLOOR CONTROL JOINT /10 STOOP DETAIL (0 _ELEVATOR PIT DETAIL
8106/ NO SCALE 35108/ NO SCALE (CCJ) 3109/ NO SCALE (CJ) SI09/ 1727 = 1707 S8/ 1 /97 = 107
4 x 37" DWL @ 1'-4" O.C.
¢ 19" #5 x 4-0" @ 3-4" O.C. BOND BREAK
- — 4" S.0. GRADE
11 :\,rl_ ) 4” COMPACTED FILL
#4 x 5-0" @ 1'-4" 0.C. 5 1/2" CONC. s f
7 /’ H . @10 FIR. £l 7 4 e e
T.0. SLAB EL. = 100’0 4] ~ = 100-0" XX ,
j »1.0. LEDGE EL. [_H — @ 40" 0.C. W/ 1/2"8
% $ <" o Y-"99'—47 K 2 N NEW 5 1/2” CONC HILTI HUS
‘ : 4 !ﬁ@ﬁﬁﬁﬁﬁ@ﬁ@\— VAPOR BARRIER o |
” 1 i ﬂ:m:m:m:m:mz NEW 3~ TOPPING
8" FDN. WALL gaglf.owc/ #N i sk |V I /
.C. EW. T T o |
bl GRADE VARIES L " 0 T o e,
. SEE CIVIL o Bt a — . . .
12" To CENTER e e T Y , EXISTING FDN. WALL a” EEREEPES § 18
Pl OF HORIZ. REBAR 11/2" CLR={} . L1 1/2" CLR. ' NG 2-4" 4/~ - /_NEW FDN. WALL / =2
: e R $ S.D. 14/55106 o
#5 @ 1'-4" 0.C. VERT.JMQ\ #5 @ 1'-4" 0.C. VERT.\:\ ) / 0 L 4 x 4 x 1/4" x CONT. _ @
"NV 1_p” 1_ n N 4, 5 ’ n 4 4’_3” DWL.
#5 @ 1'-4” 0.C. HORIZ. f5 @ 1=4" o - I | Ea 36" 4473 DL AN CUT INT. BELOW
| : e o lOF. EL = T 1—/[=1{, _.l——BACKFILL PRIOR TO 15"| DRILL 7 3/4” INTO ) BOND BM 6" BEYOND
é / ) EN=T=TIl : - : % SCHED. REMOVE CMU
ol0. L St PN T W q Jmmmmmmmmmmﬁ |- 1 EXISTING FDN. WALL | Lo
— o == 1= |=ll=l: s . — . 1 L »
NN —\H—\H—\H—‘H:‘H:‘ - TOF EL = . R T 1 EARTH FORM FTG ‘ ‘ ‘: R T“ 1 TOF. EL = \ [ 3/4 CLR. (E) &' oMU
.o VY SEE PLAN 5] T N T S50 \
L S R o A : 5 1/2" CONC. W/
/ e 3 or DRAIN TILE —4=sk s N #4 @ 8" 0.C. EW.
SEE PLAN & SCHED. 2 _0" \ \—SEE PLAN & SCHED. , \—SEE PLAN & SCHED. | /
FOR REINF. 3" CLR— FOR FOOTING SIZE 3" CLR— FOR FOOTING SIZE
& REINFORCING & REINFORCING

| 7 S
: — P BOND ,
7 “o. D0 BREAK\ 4" S.0. GRADE W/
. % e AT.0. SLAB EL. AL [ #4 @ 1-0" 0.C, EW.
P : 2 , 4 C.M.U. WALL
/] = . 2 - #5's @ EA )
= - SEE PLAN
. . LAYER OF REINF.
‘ < N (TYP. @ PERIMETER) ) |
6" EXISTING 4'-0" TUNNEL 6", " ™~ ,/ \\\ 7 8" FDN. WALL -
1 ’ \ So ‘\x#
X S.D. 13/S106 Ogn 1 50 1'-4" 0.C., EW.
= " FOR REINF. FLR/WALL OPNG WE 2 - #4 CONT.
1 i 4 W/ #3 TRANS.
© . _ N Vd | 45 DL @/ 6#_0” 0C SEE PLAN FOR
Q AN / o VT g | SLAB THK. & REINF.
: - T / —
;:CID \ TO Fl—G EL a %A_._A.A_."_AZ JENE
. - @Y. . tL. ’ SEE PLAN & \ 4
- = 3 3 - 45's x 30" = SEE PLAN._ N //_ SCHED. FOR q o
I ” - S X _ N : s E— FTG. SIZE & "
| T 11/2" CIR. (TYP.)— @ EA. LAYER OF REINF. = 1= ~|  REINFORCING { =3 CLR-{
- (TYP @ CORNERS) . 2'-0”
\—2— #5 CONT 3R ' '
)
(e SLAB @ TUNNEL /7 ADDL REINF. @ OPENING 720\ INT. FDN. WALL DETAIL 2\ THK. SLAB DETAIL
S0/ 1 /27 = 1—0” 35106/ NO SCALE S0/ 1 /0" = 110 3106/ NO SCALE
| HEREBY CERTIFY THAT THIS PLAN. SPECIFICATION APPROVED: SERVICE LINE DIRECTOR DATE: | [ APPROVED: INFECTION CONTROL NURSE DATE: DRAWING TITLE PROJECT TILE 1216 /14 |
-| = - STRUCTURAL MECHANICAL, FIRE PROTECTION & ELECTRICAL CiviL OR REPORT WAS PREPARED BY ME OR UNDER FOUNDATION DETAILS CE))L(J?I' éﬂ'l:l')l E/N("I:'(:/INESI:ITXI?T T I
N - HEYER ENGINEERING OBERMILLER—=NELSON ENGINEERING, INC HANSEN THORP PELLINEN OLSON, INC MY DIRECT SUPERVISION AND THAT | AM A DULY APPROVED: GEMS COORDINATOR DATE: | [ APPROVED: PATIENT SAFETY DATE: 1:1 St- c OUd VA
|- - 5 T B ) T T T THE SIATE OF WNNESOTA. D SO o o se o || HEALTH CLINIC oo Health Care System
810 First Avenue North ' ) DATE: 656-341 Brainerd | Montevideo | Alexandria
- T - Fargo, North Dakaota 58102 APPROVED: PROJECTS SECTION MANAGER DATE: | [ APPROVED: CHIEF OF POLICE DATE: FOSS PROJ. NO. 1327.00 b :
Phone: 701-282-5505 LEED BUILDING COMMISSIONING INDUSTRIAL HYGIENIST , e o T — /
o SR FCoDEEP COMMISSIONING SOLUTIONS LEGEND TECHNICAL SERVICES, INC. — — = i 0o o -55106 =
N } ShINT mséﬁs zzghgo@NﬁR&%&%ﬁnhﬁ% ’ UEERd0- ND 58108 DATE: 2-6-14 REG. NO: 19787 ' ) ’ " | | [ APPROVED: HEALTH CARE SYSTEM DIRECTOR DATE: L\(}c:“ﬂNE ICAL CENTER
No REVISION DATE ST.CLOUD, MN 56303 owe. 57 oF 120 |
VA FORM 08—-6231
1 2 3 4 5 o 7/ 8 9




= one foot

three inches

one foot

one and one half inches

one foot

one inch

one foot

three quarters inch

one foot

one half inch

one foot

three eighths inch

one foot

one quarter inch

one foot

one eighth inch

6”

16

I

1 2 | 3 4 5 6 7 8 9
WF BEAM (A992) /%
SEE PLAN
5/16" CLIP ANGLE (A36) .
EACH SIDE NOTE: NOTE:
, 1. THIS SCHEDULE IS FOR ALL LINTELS WHICH HAVE
- 1 /4% CAP PLATE WHERE 3 (VP USE NUMBER OF ROWS OF BOLTS REQ'D. BASED NOT BEEN CALLED OUT OR DETAILED
: ON REACTIONS LISTED ON PLANS. USE MINIMUM '
COL. IS DISCONTINUOS (U.O.N.)
I » — ROWS AS LISTED \ STL. BEAM LINTEL
PLATE 3/8" 11/4" (TvP) 2. LINTELS SHALL HAVE A BEARING OF 2" PER FOOT SEE PLAN
, : 1 )‘ - | 38 (4329 OF SPAN @ EACH END (6" MIN. ) 6" T2”
» | [ 1 4” 3
ETQP/)Z Nl o ; 3. SEE ARCHITECTURAL, MECHANICAL & ELECTRICAL / T STL. COLUMN & PLATE
) I \/+ PLANS FOR OPENINGS NOT SHOWN. I |/ WHERE APPLICABLE L STEEL BEAM ;
3 == s | | } CONNECTION CAPACITY (KIPS) A992  (Fy — 50KSI) BM. SIZE MIN. ROWS OF BOLTS > 8" | | _— = SEE PLAN 1/4°V 3
YP. AR _ 4. ALL OPENINGS WILL REQUIRE A LINTEL - SUPPLY ] @ U b = —
( ) z I ‘ ‘ BEAM SIZE # OF 7/8 ¢ BOLTS MAX. LOAD (K|PS) # OF ROWS BEAM WEB THlCKNESS W 8, 10 2 A MINIMUM 40’ OF W 8x10 W/ 1/4” PLATE FOR MECH. - // = » SEE PLAN \ ” ” ’ ”
| | - - - " " P —— 3/8” STIFF PL. b ¥ T~—PLATE 3/8" x 7" x 1'-6
) W8 W10 2 1 3/16 1/4 5/16 3/8 7/16 W 12, 14, 16 3 OPENINGS v . o
1"¢ BOLTS : EA. SIDE L W/2 — 1/2" SA
Al I W 12 3 29 2 24 33 37 37 37 W 18, 21 4 - - - SE 3/ T 1 :
W14 W16 . 3 3 p 19 o= . e W 28 27 - SPAN 4” VENEER 8" WALL 12" WALL PTE 34 5T T IS
W 18 5 49 4 — 65 74 74 74 0 — 4 | L31/2x31/2" x 1/4 | WT 5x6 W/ PLATE 1/4’| W 8x10 W/ PLATE 1/4” A = _— ] l\ \%V/C%ESEA
: . COL. : 8" BLK.
W 21 6 62 5 3 95 95 99 # -6 | L4 x31/2 x 1/4 | WI 56 W/ PLATE 1/4” | W 810 W/ PLATE 1/4” REINFORCE 2 CORES —=—171 SEE PLAN\ | PLATE SAME THICKNESS AS DOWN TO
_ _ _ . : FOUNDATION
W o w2 . - 6 "1 11 W/ #5 EA. DOWN TO S L BEAM FLANGE (1/2” MIN)
’ . N — — 130 130 6 — 8 | L5 x31/2" x 1/4" | W8x10 W/ PLATE 1/4" | W 8x18 W/ PLATE 1/4” FOUNDATION (U.O.N.) s W/ 2 - 3/4" ¢ BOLTS (U.ON.)
8 — — — — 148 8 — 10| L 6" x31/2" x 1/4" | W 818 W/ PLATE 1/4” | W 8x24 W/ PLATE 1/4” .
7T\ BM — COLUMN CONNECTION 77\ CONNECTION DETAIL 73\ LINTEL SCHEDULE 2\ BEAM BRG. @ INTERIOR WALL 75\ BEAM END DETAIL s\ BEAM BRG. DETAIL
5510/ 1" = 1-0 S0 1 = 10" 55107 NO SCALE $S10) 17 = 1-o” S0 17 = 1-0 5510 17 = 1-0
@ BEAM ,
8" CMU
& BEAM CENTER LINE BEAM & ol
e
M\_/_\_ S\ LS U5« 20" DIL. — DRIL 2" T 78" CMU. SEE PLAK
CONT. L3 x 3 x 1/ METAL DECK E T NTO EXISTG & MNCHOR W/ "N A1 WHERE APPLICABLE GROUT CELL ABOVE— |
: X9 X \ BENT PL. 5/16 x 8" x 4" N INJECTION ADHESIVE @ CMU SEE PLAN LINTEL SOLID
\l | STL. JST. | ' 175 V3012 VERT'S. ~l FOR REINF. N
12" TOP CHORD ML DK ARCH. VER. ~| 1" THICKNESS, RENFG. el SEE SOH 5.D. 16/A5802
i THICKNESS, REINF'G, " ERST COURSE ABOVE SEE. SCHED D.
. ALT. #9 JST. LOC. ! ‘ . . & METAL DECK ¢ '
> 56" SHEET WIDTH R R U N e E %4 BENT PL. W/ = 1 1/2 LINTEL SOLID (TYP.) N
- L 1/2" DIA. x 6" SA. 228 e . N
I/ . 3 _ | VER. W/ ARCH.
N ” ® 2-0" 0.C. LA STL. ANGLES T ﬁg / ARC
HSS 2 1/2 x 2 1/2 x 1/4 . JST. BRG. EL. 2 — ' | & EL = SEE ARCH. X | T @ EL = SEE ARCH.
NOTES: ©7="SEE PLAN L2 1/2” BRG, M iL ‘L v
M 1. LAP DECK ENDS 2" MINIMUM AND WELD TO 2 = T 1/2 PLATE 1/4" x 9.1/2
/ STL. JOIST SUPPORT @ 6" O.C. 3/16V°2
STEEL BEAM SEE PLAN L-1 L-3
SEE PLAN STL. BEAM — |
i SEE PLAN .
/7 JOIST BRG. DETAIL /™ ROOF DECK FASTENING S I /™ LINTEL BEAM DETAIL
S0 17 = 10" 3510/ NO SCALE (S.D. 3/AS501) SEE PLAN SEE PLAN S0 1" = 10’
79\ DECK BRG. DETAIL /10 JOIST BRG. DETAIL
N0 17 = 1'=0” NM0Y 17 = 1’-0”
NOTE:
SEE PLAN FOR MTL. ROOF CONT. L 3 x 3 x 3/16"
DECK TYPE, GA., & DEPTH
4”
5 1/2" CONC. W/ £
#4 @ 8" 0.C. — N 3/16
i #4 x 5'-0" DWL: e =
, 1'-4" , Vo #5 x 4-0" DWL. 8" CMU WALL @ 8" 0.C. 34 CR PL.1/2" x 4" x 8" W, N g <@ EA JOT
#3 x 5'-0" @ I 2 — 1/2 DIA. x 4" SA.
} (U.ON.) } CROUT KEYS IN GROUTED CORE . | " =
1 21) @ 3’_411 O C ” 2 SOAP W/ AN - @ 5 O.C. E _'\ ’
| | / 3" CONC. TOPPING oMU WAL ABOVE 7 L I \ [\ [\ [\
o o W WHERE APPLCABLE 11 — 3" CONC. TOPPING / onen L .o JST. BRG. EL =h TR
SEE PLAN\ W H l/ q T 4 3 CONC. TORPING v ON PLAN @< PN SiE L2 1/2" BRG.
! ! 4 I ) o B » — | ﬁ
A = tede 0 Eo———— —71 ————— = i ——— x BOND BEAM—/ ol o 3/4" OIR. ¥ T
—m— i S é ) —8  CONC. ON I - W/ 2 — #5 CONT. BOND BEAM I B = 7 o &
1110 . ] = F 3" CONC. TOPPING 1.1/2" MIL. DECK g . SHE:
S _— E/{BSBEIFF PAE T T T - o W/ 2 - #5 CONT.[” A |-
” . — ] bl L . —= , s A 1 47 : - E— ) (E) CMU WALL — |-
14" () ——— |77 : « : R « =p? |
= / R VR %D Q @ VERT. REINF. = \—STL. JOIST
- STL. BEAM CAST’ —”IN WELD PLATES = R T = SEE PLAN — | SEE PLAN
1 ; ; SEE PLAN @ 4'-0" (MAX.) )
S.D. 2/57 / PLATE SAME THICKNESS AS / { ”
FOR CONN. - BEAM FLANGE (1/2” MIN) | rvier (E) HC. \(E) STEEL BEAM L oL "L8 Lk L
STL. COL. o , I EXIST'G H.C. ARCH ™ 15" oMU
/7\ BEAM SPLICE DETAIL /7 HC BEARING DETAIL /7 INFILL DETAIL /\ HC BEARING DETAIL /7 DECK BRG DETAIL /7 JOIST BRG. DETAIL
35107 1” = 1'=0" 95107 1” = 1'=0" 5107 1” = 1'=0" 9107 1” = 1'=0" 5107 1" = 1'=0" w 1”7 = 1’=0"
N
NEW COL.
SEE PLAN
1
, HiEN= (E) PLATE 1" x 8" x 8"
#4 REBAR DRILLED 8" CMU WALL —H
THRU KEYWAYS INTO #5 x 3’4" DWL. T 5/16" (E) 8" HOLLOWCORE
BOND BEAM @ 4'-0" O.C. " DRILL 6" INTO BM - H CENTER LINE BEAM ORID ohol IR WELD PLATES / /
& GROUT SOLID 6 BEAM W/ HILTI HY-70 ~4 1 B #4 REBAR DRILLED €. NS
g | H CONSTR. JT. CAST-IN-WELD PLATE ,
ADHESIVE @ 3'-4” 0.C. = , THRU KEYWAY INTO ' , ,
- — gFIN.’FLE%. EL. 74*1 BY H.C. SUPPLIER BEAM @ 4'—0" 0.C 2 3" CONC. TOPPING 3" CONC. TOPPING
B - 113°=7" (ME) @ 4-0" 0.C. GROUT SOLD WHERE SHOWN 1/2" WHERE SHOWN
iiiiiii \ — 1Y | i I N ON PLAN f ON PLAN
= \ = \ = : i M . \ ) 4
\ \ - 4 = — -l— — - = _————— — — - — — — — — ] S f g, . |‘ / N v = ¢ *
———————— 11 | aHC BRG EL = SEE PLAN N1 1 = i il g o AR " * :
@ N1 -|- I < \ :4|,' / = — 7 (E) STEEL BEAM | ® | (E) STEEL BEAM T
RAV — 2 r (b T = - - Q
M (©) He W/ — \ = el | %), HOLLOWCORE BRG. ———— e |, o HOLLOWCORE BRG. %j O Q i =T SEE PLAN . o | SEEPUW
BOND BEAM _/ 0 e NEW 3n TOPPING Ld _— EL. = SEE PLAN / N“ﬂ// EL. = SEE PLAN i — ] ‘© AHOLLOWCORE BRG. PS P
W/ 2 = #5 CONT. —— —gl,,EV\%l-Fl).F())l.N(\év/ GROUT GAP BETWEEN e u‘ “EL. = SEE PLAN
o H.C. & WALL WHERE 5 VERT. @ 2'-8” 0.C.
A IT OCCURS T /_# :
y . / 1 4”
\SEE PLAN MU WALL i ‘ ~— (E) STEEL COL.
: , SEE PLAN K m
CMU WALL (E) CMU WALL M STEEL BEAN
SEE PLAN
23\ BEAM — COLUMN CONN.
: S0 - _ 1o
718\ H.C. BEARING DETAIL 71\ H.C. BEARING DETAIL 20\ H.C. BEARING DETAIL /21 HOLLOW CORE CONN. 2\ H.C. BEARING DETAIL
SS‘|O7 ,In _ ,],_O” 88107 ,In _ ,ly_On SS‘|O7 ,In _ ,I,_On SS‘|O7 ,In _ ,],_O” SS‘|07 ,]n _ ,])_On
| HEREBY CERTIFY THAT THIS PLAN. SPECIFICATION APPROVED: SERVICE LINE DIRECTOR DATE: | [ APPROVED: INFECTION CONTROL NURSE DATE: ||| DRAWING TITLE PROJECT TITLE 12/16/14 |
- - - STRUCTURAL MECHANICAL, FIRE PROTECTION & ELECTRICAL CIVIL o ot SPECIE G FRAMING DETAILS CE))l(J?I' é,':'l:l')l E/N?I'(:/INESI:IFPXI?T —— I
. - HEYER ENGINEERING OBERMILLER—=NELSON ENGINEERING, INC HANSEN THORP PELLINEN OLSON, INC MY DIRECT SUPERVISION AND THAT | AM A DULY APPROVED: GEMS COORDINATOR DATE: | [ APPROVED: PATIENT SAFETY DATE: 1:1 St- C OUd VA
| = - 1020 36TH STREET SW 2201 12TH STREET NORTH, STE. E 7510 MARKET PLACE DRIVE REGISTERED ENGINEER UNDER THE LAWS OF APPROVED: ASSOCIATE HEALTH CARE SYSTEM DIRECTOR HEALTH CLINIC PROJECT NO. Health Care System
810 First Avenue North FARGO, NORTH DAKOTA 58103 FARGO, NORTH DAKOTA 58102 EDEN PRAIRIE, MN 55344 THE STATE OF MINNESOTA. OATE: 656-341 S A
- - - Fargo, North Dakota 58102 APPROVED: PROJECTS SECTION MANAGER DATE: | [ APPROVED: CHIEF OF POLICE DATE: FOSS PROJ. NO. 1327.00
Phone: 701-282-5505 _ LEED BUILDING COMMISSIONING INDUSTRIAL HYGIENIST R APPROVED: CHIEF OF STAFF DATE: | [TBUILDING No CHECKED BY | [DRAWN DRAWING NO. ‘/
oGomaoo EcoDEEP COMMISSIONING SOLUTIONS LEGEND TECHNICAL SERVICES, INC. ——— = — i ” > 1it-88107 —
T N ShINT mséﬁs zzghﬁ@N%E%ﬂ%ﬁnhﬁnﬁ ’ HEkdo, ND 56103 DATE: 2-16-14 REG. NO: 19787 ' ' ' " | | [ APPROVED: HEALTH CARE SYSTEM DIRECTOR DATE: K(}c:nmz ICAL CENTER
No REVISION DATE ST.CLOUD, MN 56303 owe. 58 oF 120 |
VA FORM 08—6231
1 2 3 4 9) 6 7/ 8 9




= one foot

three inches

one foot

one and one half inches

one foot

one inch

one foot

three quarters inch

one foot

one half inch

one foot

three eighths inch

one foot

one quarter inch

one foot

one eighth inch

6”

6"

16

METAL DECK
_\

3/8" STIFF PLATE
EA. SIDE N
TT—Hss 2 1/2 " x 2 1/2" x 1/4"

W/ 1/2 8 x 4" SA. @ 2-0" 0.C.

PLATE 3/4 ” x 7
W/ 4-
THREADED STUDS

STL. BM
/ SEE PLAN

” X 1’_1”
340 % 2 1/2”N
uy

L—SLOTTED HOLE

=

STL. BM
SEE PLAN

™

!

Vi

S.D. 19/SS108/\ "

STL. COL.
" SEE PLAN

S.D. 8/AS501

2- 3/16" X 1 1/4"
TITEN SCREWS @
EA. CLIP ANGLE

SEE ARCH:

2x6 TREATED WD.
RAFTER/JST. TAIL

MTL C JOIST
SEE PLAN

6" STUD W/
4—#12 SCREWS

~
7
z
e

r— CONT. RUNNER
=
|

|

|

|

| 7 16GA. x 4" x 4" LONG CLIP ANGLE
k W/ 2— #12 SCREWS

|

CONT. TRACK W/

2— #10 SCREWS

6" STUD W/

4-#12 SCREWS

MTL C JOIST
SEE PLAN

CONT. BRIDGING
— $D. 21/55108

j 16GA. x 4" x 4" LONG CLIP ANGLE
” = @ EA. STUD / W/ 2— #12 SCREWS
8" CMU S 1 0 N 1 P 1 0 S o %
o TEFLON PAD
BETWEEN PLATE & BEAM S.D. 18/SS108 Ny GROUT SOILD ll‘—{ P/_CONT' RUNNER
< S \ #4 REBAR DRILLED THRU — o FOR 1'-0” T ;
n [ 4- 1/2" ¢ x 6" SA ] |, EL. = SEE PLAN KEYWAYS INTO BOND BEAM N BOND BM A T S
g @ 4'-0” 0.C. AND GROUT SOLID 2—- 3/16" X 1 1/4" i .
: \ SEE_PLAN i
TITEN SCREWS @ A ©
..... EA. CLIP ANGLE I
/1 DECK BRG. DETAIL ?ET‘F#; VCE%F;FS&WG/ROUT e GROUT OR CAST
3108/ 47 — 1_o” SOLID 8" CMU BLK. #4 REBAR DRILLED THRU - — N
- KEYWAYS INTO BOND BEAM BOND BM
@ 4'-0" 0.C. AND GROUT SOLID
S 772\ BEAM BRG. DETAIL 73\ X—BRACE DETAIL 8" CMU BLK.
S8/ 1 = 10" 108/ N0 SCALE 77\ BRG. DETAIL (BASE BID)
[1 1/2" METAL 55108/ 17 = 1'_p”
DECK w
¢ BEAM
— . DECK BRG. EL.
ﬁQ: SEE PLAN e ROOF SHEATHING m BRG DETA”_ (ALT. #9)
. S8/ 17 = 10
BOND BEAM \ 6—#12—14 SCREWS
éRBU#SC(():ggT'\\ % CONT. L 3 x 2 x 1/4" (LLH) 7 L3 %3 38 N A an A any
gRoy L6 x 4x 1/4" x 6" [ ‘ o
LoNnG @ 4-0"o0C. ] 1-RIB CUT | . 16GA. 64 x 4" x 4" CLIP ANGLE 8 Sy JST 16GA. CLIP ANGLE
W/ 2 - 1/2" SA. P E 1 | TNO REINF REQD. 4 1 BENT PL. 5/16" x 8" x 47 W/ 4- #12 SCREWS EA. LEG ’ ' W/ 2— #12 SCREWS
(e 7316V 2 OPENING (V.) 2— RIBS CUT { 3012 ¥ 174 ROOF JST
SEE PLAN /] T, W35 | METAL DECK WL STID RAFTER CONT. TRACK W + - |
oL 1/2" % 4" x 8 | - - T\ | CONT. BRIDGING SEE PLAN FOR SIZE CoN T SCREWé\12—3/16”11/4” ******************* =X
W2 = 1/2° x 4 @ | 3 OR MORE RIBS CUT PROVIDE ——— — | S.D. 21/55108 @‘Ef <T0b el SCREWS @ X [ —16GA CLIP ANGLE
A @5 0c | L FRAMING AROUND OPN'G. NI ' EA. CLIP ANGLE o \.-_ W/ 2— #12 SCREWS
} NGTE: / _— CONT. 2x4 SCREW 10 TS Akl L S S 4
Sl STEEL JOIST — = HSS 2 1/2 x 2 1/2 x 1/4 ALIGN RAFTER ; TRACK W/ #12 SCREWS
TOP CHORD | INSTRUCTIONS WHEN CUTTING W/ STUD —= @6 0C.
8" CMU (TYP.) | OPNG'S IN 20 & 22 GA DECK | ; CONT. BRIDGING
L3x3x3/8 } N = SLOPES g S.D. 21/55108
; - . I CONT. TRACK SEE ARCH. .
/5 DECK BRG. DETAIL L3 x 3 0 AN — TOP CHORD /7|(_TY3PI()§AE)X 3/8 I
SS108/ 1 — 1'_p” |- ) - BOND BM
310/ 47 = 10 (Y. OF 4) S ] : 1 (S.D. 3/AS501) 0.144 POWER ACTUATED T~ 0S) 186A @ 20" 0. 8" CMU " W/ 2- #5 | SD. 1/AS502
T FASTENER @ 2'-0" O.C. Ll TS BEARNG WAL " CONT.
| STEEL BEAM TYP. @ ALL METAL STUD ] 24
SECTION AA SEE PLAN WALLS /H.C. iiiiiiiii :
O
T+ = =
MTL. STUD RAFTER- Ay 5
B0 NO SCALE ‘
SS’|O8 1” — 1:_0”
CONT. BRIDGING
conr soan (2 RAFTER BEARING DETALL e
¢ BEAM 1" = 1'-0" o
16GA. x 4" x 4" LONG CLIP ANGLE _—6", CSJ, 18GA @ 2'-0" 0.C.
W/ 4" LEGS W/ 4— #12 SCREWS STUD BEARING WALL 7
ROOF SHEATHING
16GA CLIP ANGLE W/ 4— #12-14
- — ALIGN RAFTERS 1 SCREWS EA. LEG
I T s s oo b L e g e /T RAFTER BEARING @ OVERHANG DETAIL (ALT. #9)
ROOF SHEATHING T _ ' | ] 108/ 17 = 1o
4—#12-14 SCREWS VETAL DECK = = 1 1'-0
TO BACK RAFTER _\ T T
. |
S S —— AN
T
> 16GA CLIP ANGLE MTL. STUD RAFTER— ) GIRDER S.D. 1/SS105
R W/ 4- #12-14 SCREWS SEE PLAN FOR SIZE HSS 2 1/2 x 2 1/2 x 1/4” CONT. 2x4 SCREW TO
EA. LEG X X MTL. STUD RAFTER- v
\ SEE PLAN FOR SIZE CONT. 2x4 SCREW TO ROOF SHEATHING éRAgKch/ #12 SCREWS
2- 3/16" X 1 1/4" TRACK W/ #12 SCREWS s
TITEN SCREWS @ @ 6" 0.C.
: 16GA CLIP ANGLE |
EA. CLIP ANGLE —CONT. 2x4 SCREW TO CONT. RUNNER W/ ey
\ — TRACK W/ #12 SCREWS CONT. STUD ON TOP O \ \I{ZVA/ ALrEG#m 1 SLRES hsﬂ& F;SLTXJND F%Arle-—r EF{E
_ STL BM CONT @ 6" 0.C. OF WALL S.D. 1/SS105 #12 x 2 1/2" LONG - < } I
SEE PLAN TRACK L \ SCREWS @ 6" 0.C. “ IH.
ALIGN RAFTERS STEEL BEAM ( = RO XA
S.D. 3/AS502) 4" METAL STUD WALL o N
D BRG. DETAIL W/ STUDS \4”, CSJ, 18GA @ 2'-0" 0.C. SEE PLAN CONT. TRACK CONT. 2x4 SCREW TO —— / ; 2 N
55108 1,, _ 1,_0,, and STUD BEARING WALL AAndL TRAC"K W/ #12 SCREWS % ///// O \ \\\\\ %
@ 6" 0.C. P conT. N
NETAL DECK (T _RAFTER BRG. DETAIL (ALT. #9)
13 . .
N (7 RAFTER BRG. @ RIDGE L ™\ RAFTER CONN. @ VALLEY H2 < 2 1/2" LONG
— 108/ 17 = 10 h=1-0 < - SCREWS @ '6" 0.C.
g = 1" =1-0
AN B
~ —STL. COL.
SEE PLAN
X—BRACING 715\ RAFTER CONN @ HIP
SEE ELEV. \ 518/ 17 = 10’
W.P.
8" CMU WALL /
Ak LT B
e ROOF SHEATHING SOLID 8" C STUD BRIDGING @ ’
#4 REBAR DRILLED THRU RID FIRST TWO & LAST TWO JOIST W/ 2 — #10 SCREWS
KEYWAYS INTO BOND BEAM @ .
4'-0" 0.C. AND GROUT SOLID ) . . BOLT @ SPACES AND EVERY
WP INTERSECTION FORTH SPACE.
(I e — | / 7 I I F I
(@] il
T = Q Q < . p =+ I |
I SRR S ou | N His . >
CENTER——— — R : | |
STL. BEAM HNE - o | | L Ly
: SEE PLAN - i
7 7 CROSS BRACING STEEL JOIST
SEE. ELEV. /20 BACK TO BACK CHANNEL DETAIL
S ooL—" | 108/ NO SCALE 16GA. CLIP ANGLE W/
‘ 4 SEE PLAN | 2— #10 SCREWS EA. LEG
| ‘ GUSSET PL. — THICKNESS
| TO MATCH REQUIREMENTS
R SEE PLAN 31081 1/2" = 170
/7 RAFTER BRG @ OVERHANG DETAIL (BASE BID) (N /12 BRACE DETAIL /19 BRACING DETAIL
SNy 17 = 1'—¢” N108/ 17 = 10" S108/ 17 = 1'=0" SS108/ NO SCALE I D B | l
| HEREBY CERTIFY THAT THIS PLAN. SPECIFICATION APPROVED: SERVICE LINE DIRECTOR DATE: | [ APPROVED: INFECTION CONTROL NURSE DATE: ||| DRAWING TILE PROJECT TITLE 12/16/14 |
- - STRUCTURAL MECHANICAL, FIRE PROTECTION & ELECTRICAL CiviL OR REPORT WAS PREPARED BY ME OR UNDER FRAMING DETAILS EXPAND / CONSTRUCT —
- - HEYER ENGINEERING OBERMILLER—NELSON ENGINEERING, INC HANSEN THORP PELLINEN OLSON, INC MY DIRECT SUPERVISION AND THAT | AM A DULY FFPROVED GEVS. COnrDNAOR - — OUTPATIENT MENTAL | 1.4 St. Cloud VA
1020 36TH STREET SW 2201 12TH STREET NORTH, STE. E ’ 7510 MARKET PLACE DRIVE ’ REGISTERED ENGINEER UNDER THE LAWS OF . . . " ||| APPROVED: ASSOGIATE HEALTH CARE SYSTEW DIRECTOR HEALTH CLINIC PROJECT NO Health Care System
- - FARGO, NORTH DAKOTA 58103 FARGO, NORTH DAKOTA 58102 EDEN PRAIRIE, MN 55344 THE STATE OF MINNESOTA. _241 y
810 First Avenue North DATE: ggssPR?)leO 132700 Brainerd | Montevideo | Alexandria
miﬁzglfﬁ1m LEED BUILDING COMMISSIONING INDUSTRIAL HYGIENIST AFPROVED: PROIECTS SECTON WAUCER PATE || AFPROYED: GHET o PoLcE e APPROVED: CHIEF OF STAFF DATE: | [ BUILDING No CHECKED BY | [ DRAWN DRAWING NO. ﬁ
o o 5338 FCoDEEP COMMISSIONING SOLUTIONS LEGEND TECHNICAL SERVICES, INC. —— =L — L i o M-S5108 =
} } SAINT PAUL MR 55115 zz%hh%{nNgﬁl@%&%l}eru% £ ERRd0 RD Sa1n DATE: 2-16-14 REG. NO: 19787 ' ' ' " | |[ APPROVED: HEALTH CARE SYSTEM DIRECTOR DATE: L\(}C:“ﬂ"s DAL CENTER
No REVISION DATE ST.CLOUD, MN 56303 owe. 59 of 120 |
VA FORM 08-6231
1 2 3 4 5 6 7/ 8 9




	656-341-53-SS101
	656-341-54-SS102
	656-341-55-SS103
	656-341-56-SS104
	656-341-57-SS106
	656-341-58-SS107
	656-341-59-SS108

